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Non-Standard OMRT&27iq IIRTAA (@ 2RI A SRR SITia (Aet 154, 21| [Tl i =194, 2io)fEaia
et OMR Teaeitad fffS ZITa FITeT 900 T R ANGR P € (AL 2D @3 et @ar
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Tdemefl Wt O 1 TF (rough) T TEA-TRaeRT H ST T T T X Fohil | T 1 OMR STR-T5 A1 37
forelt TRE o TSl W T2 B Wehil | Al FIg TH 1 AT AT OMR STR-T5h TR fohaln 721 =1 foistah
1 JA fohal 71, A OMR STR-T5Ieh 1 Heih el TRl ST |

Yyl o HIEAH/EERIOT | ferdt ot faamfa ar um ot fearfa ®§ 31U SEntor & 1= arm |
T &% SRE fREt oft qdenelf =1 wien e Sred w5t eufa T& ¥

Ff g wtameft Tt iRt ST U U S © 27t Ufasifi Sl Tl S Hieed W, Shegere] a1
et ™ 1 Agfas Al Steren st a5 onfe, faent wien eict/wet § s1ufa T €, @ 39 s
HIAT ST |

Paper-IVIB 5 P.T.O.




1.  Which of the following diagrams best represents Writers, Teachers and Musicians of our society ?

(A)

0©

o o

1. RS @G Baz S e @1, #iF S 375 e 7w Ares ol afeliag sfa ¢

Q) @ Q (D)

1.  f90=a @ el S TitEd @1, e @G3R A5 eeE AAACE SIS ToEI7 T3 2

Q) @ Q (D)

1. oo Qe Sifq TEeE feRfier, SRR ) SEifiiere: gefas feferm ?

Q) @ Q (D)
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frefafea 9 9 < o f99 29N 99 & g, femenl 3R Giiidenrl o1 Jed et yfafafee s & 2

(OO

Apart from Jaipur, which was the home ground of Rajasthan Royals during IPL 2023 ?
(A) Guwahati (B) Dharamshala (C) Bhubaneshwar (D) Panaji

2o GeT 2023 I TRCRRNS NG AR Al (LT T2 AR O (Flv<el nifeeT 2
(A) @G (B) «=Tiial Q) TR (D) SIS

o

TP QT (I SNaf#ae 2023 G AN ASTF TEER & 0o 2T 2
(A) sl (B)  «f=iteTl (C) AR (D) S

SR ST, 2023 FEAEA [PL 1 6@ TS Ihet faeman aemE ?

(A) ARl (B) &I (C) YT (D) THIS
STEUTUE 2023 % SNM, SR 6 STATE TS Taed 1 3ol TG hiA-91 o1 ?
(A) TETEEl (B) eIl (C)  HaTR (D) TSIt

At a class test for 50 students, the average score was found to be 45.5 out of 100. Upon checking,
it was found that an incorrect data-entry had occurred where 85 was incorrectly entered as 58.
What should be the correct class average ?

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 G TRrwIE @Bt (R AFTHE 100 7999 [S0T0 2l1e 91T 799 (2R 45.5 | 7 e (vl o8 (T Bl 92
SEGES 85 F 120 TAT 58 I 799 TBYE 4| (7| (RTICHTS 2% T W Gl Fe (2t Tfoe 2
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

G35 (T AT 50 T SR 5T AR (CFF) 100 97 N 45.5 21167 A | S ol T @
936 o1 SIAR T TCHCR, (T 85 TSI 58 I 2 S AR | (AT AfIS 91T Fo zem
T ¢

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40
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I 50 TEHTRRE M@l STHSeE AFA™ TS T8 100 37 45.5 | ARARAHEE HHeEfc @i Se-mme
TR 85 W 58 Tt WGl | G X TS |1 i 2

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 B S Teh Hall THeT0 § hefl o1 3Ed ©h 100 § 9 45.5 U= T Siie o1 |, I8 9 =0 T uw
T S2T-Ugl g8 o, W8T 85 <l TTewl 9 58 % ©9 H To| okl T AT Wl heTl S 1 ST =1y ?

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

Identify the correct definition of verb.
(A) Naming words (B) Things description words
(C) Action words (D) Joining words

A metal sphere of radius 24 cm is cut into 8 equal pieces and one piece is melted in the form of a
sphere. The radius of the new sphere is :

(A) 12 cm (B) 8cm (€©) 15 cm (D) 10 cm

24 (5 TPIGT GBI AT AT TG A 8 Blol 91 T TN ZANT TO1IF 7T IF (eI Fhoo
ST (ST TS| ool (AIITTHRCEI TP 29 ¢

(A) 12 &f (B) 8 @™ (C) 15 f (D) 10 Gf

24 1R TP @3 @7 (olerees 8 5 T Sital T 1 W @R @30 FHRENE (AT SR
SR 2| Tl CoIFTRO AT 25 ¢

A) 12 L. (B) 8 @fil. © 15 @ (D) 10 @i

T4 24 9.7, 9'E@ T g SqE 1 8 WiIeTE SwEEE S| 9e wkrE safd 2H geX
Y TA™ ST | o MeM U 9 gl s&ei ?

(A) 129fm (B) su.f. (C) 159fm (D) 10 &.fA

24 ., T 9101 T o1 % TWEl Rl 8 TRISR el H 1Sl ST © SR Teh Zohe ol Tilel o &9 H forsremmn
ST €1 T et B e ©

(A) 12 9. (B) 8 Q.. (C) 15 9. (D) 10 &.HL.

Which of the following is NOT a non-metallic mineral ?
(A) Silica (B) Limestone (C) Bauxite (D) Dolomite

o o

RIS (@G o-4ed AR omief =7 2
(A) Bl (B) peif*ie (C) <MD (D) TG
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6. A (G J-4req dfder a8 2
(A) Frferet (B) pelisfied (C) TG (D) TCEINIZG

6.  TEMETE ol UIdAfS Wi oElg ST ?

(A) Tafeen (B) g TR (C) whdTE (D) TA'AEE

6. Tr=fafad § 9 HH-91 Tk i @is T8l ¢ ?

(A)  THfeTH (B) TA-TER (C) wirEe (D) i
7. Which of the following is a collective noun for ships ?
(A) pack (B) herd (C) swarm (D) fleet

8.  Which two countries does the Gobi Desert touch ?
(A) Sudan and Egypt (B) Saudi Arabia and Iraq
(C) Turkmenistan and Uzbekistan (D) China and Mongolia

8. (PN I O (oM TR I il Ffg 2
(A) oM == ey (B) (Rt = W= Z9F
Q) TIEBE W TERfFEI (D) B IR wgesiifer

8.  (olifR srrgfil (M 9fb omics il Scac 2
(A) WA =% BEs (B) G SIFR €% TAF
Q) TN R RSB (D) B @3 esifera

8. 'St STl BHIAT Il BIEL HIAAE AeATS T

(A) HeH IR free (B) wRfE & 3N 3
(C) THATTEN TR IR (D) = TR wfern

8.  Tiel HEENE fohA < <O HI WA 7 ?
(A) HeH R fre (B) Wl 3RS SN S
(C) THufEr iR Iafrea™ (D) = 3R Heiferan
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9.  The product of the roots of the quadratic equation 2x>—5x+6=0 is :
(A) 2 (B) 3 © 5 (D) 6

9. RS ATl 202 —5x +6 =0 T AL (FLHIF 7T (20T ¢
(A) 2 (B) 3 © 5 (D) 6

9. Taaifo M 262 —5x +6=0 97 TR ez & ¢
(A) 2 (B) 3 © 5 (D) 6

9. 2x2—5x+6=0 ST THFAEMA VSTHRMA TSR
(A) 2 (B) 3 © 5 (D) 6

9. fgemd GO 2x2—5x +6=0F Tl H1 PHBA § :
(A) 2 (B) 3 © 5 (D) 6

10. Consider the five numbers given here :
@ 736 (i) 269 (iii) 958 (iv) 219 (v) 793

Arrange the digits of each number in descending order. What would be the difference between
the highest number and the lowest one ?

(A) 222 (B) 716 (C) 618 (D) 12

10. 2w B0 AT (X2 8

G 736 (i) 269 (iii) 958 (iv) 219 (v) 793
ARSTH! TR TF (F2! THLTAS HGIS HZS AR NS T T AAICFRORE e ALFE T 5 29 2
(A) 222 (B) 716 (C) 618 (D) 12

10. GAE 24ve 25 AN 7 ¢

i 736 (i) 269 (i) 958 iv) 219 (v) 793
ATSTB0 TN SHCE SIUITFC ANGT | 6 2 G2 AT A W&y 212w ) 2@ 2
(A) 222 (B) 716 (C) 618 (D) 12

10. BN AT SHNSHRRGE! SR B
@ 736 i) 269 (iii) 958 (iv) 219 v) 793

A% AN faRRE! SRl wiiEre 9er | i 3T gefad SHNSMIA TISie wRETfE

a9 ?
(A) 222 (B) 716 (C) 618 (D) 12
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10. &3 T uie Hemsti W fa=m #
@i 736 i) 269 (i) (iv) (v) 793
e HEAT & 3ehi bl S2d A H AAd i | Hod o< 31X ol DI H o1 Fal 2 2
(A) 222 (B) 716 (C) 618 (D) 12
a 4 6a+2b
11. If b = 3 then the value of 1a— b is :
(A) 3 (B) 4 ©) 5 (D) 6
a_4 6a + 2b .
1. 1= o, (90— T s
(A) 3 (B) 4 ©) 5 (D) 6
a_4 6a + 2b
1. A= S WOR - T
(A) 3 (B) 4 © 5 (D) 6
a_4 6a + 2b
W R = 5 T o
(A) 3 (B) 4 © 5 (D) 6
a_4 6a + 2b )
1. A= 2, @ AR
(A) 3 (B) 4 ©) 5 (D) 6
12. Near which place, a statue of Jongal Balahu has been erected ?
(A) Raha (B) Dibrugarh (C©) Dhuburi (D) Karimganj
12, (SieR IoTe] 2lf S (I BT STNere ok 341 (202 ?
(4) T (B) ey € (D) FRle
12, (SI6IE o1 IS (I BT 6 Bloie 1 (R ?
(A) = (B) fewro (C) el (D) wfawaig
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12. SoTA 9 g TYERA! 981 BHAE G ?

A) & (B) fegrs (C) Yok (D) T

12. ST og 1 G fohd T & Fehe Tonfua i 78 82

(A) @ (B) Tegme © Y (D) wiws

13.  Who has been honoured with Assam Baibhav in 2024 ?
(A) Ratan Tata (B) Ranjan Gogoi
(C) Tapan Saikia (D) Ranjit Shekhar Mooshahary

13. 2024 IF© T SO (IS HAW AW 1 T2 ?

(A) Fo GBI (B) & sital

(C) ©f =Tl (D) e coi<a 2=
13. 2024 HCE FIF ST (A4 TR 2ule] I 2RCR 2

(A) T Bl (B) & aital

(C) oo =zl (D) 3fge o1 PR
13. 2024 HEYEM AEM S99 AFET QAT ST STe) 2

(A) T2 (B) T=HATMTE

(C) 9 Teferan (D) <[ ¥ER qRer
13. 2024 ¥ 799 ovd 9 ford grrfa foran mm ©2

(A) T 2 (B) ISH NS

(C) T feran (D) S e qERR

14. Which of the following mountain ranges is in Jammu and Kashmir region ?
(A) Pir Panjal range (B) Satpura range
(C) Dhauladhar range (D) Mishimi Hills

14. & 97 IR et MRS (@G soe =g 2

(A) TR Agie siFee (B) AIOsA siFewa
(C) (TN Ao (D) faffl siizR
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14. A @I AT oY € I S0 SRFS ?

(A) TR gl o (B) AISofA ool

Q) (TR AFer=a (D) T otz
14. =« B0 TaReEn 9 S SRER SHEeE ?

(A) TR o= g falk (B) &dqU Bl ARk

(C) emeR = fafk (D) fafafe st
14. frafafed § @S- vda Swen s R wedR 8 5 72

(A) oR 9T goit (B) wdgel guit

(C) dreHr Joft (D) Taferdt goft
15. The addition of two binary numbers 11 and 10, when represented in binary system is :

(A) 101 (B) 110 (C) 010 (D) 111
15. @ 2elfers ol W 11 9Re 10 I (Q9Fe @0 2elleTre o FRCeT 2lie AU ¢

(A) 101 (B) 110 (C) 010 (D) 111
15. 70 fafss il 11 €32 10 @31 Q@oreet TRl simfore el e 23 ¢

(A) 101 (B) 110 (C) 010 (D) 111
15. HAEA SARTAHER AR 11 3R 10 T et sHfHrH=R sHfsHmEme HREs |

(A) 101 (B) 110 (C) 010 (D) 111
15. < fgamemt demsti 11 3R 10 &1 4, 519 fgamem yoneft & <o S 8, @ S g

(A) 101 (B) 110 (C) 010 (D) 111
16. Which of the following countries does the Mediterrean Sea not touch ?

(A) Spain (B) Portugal (C) Lebanon (D) France
16. RGeS @A (i Guaiang =i« T3 2

(A) ¥ (B) % (C) (T (D) =™
16. TIHA (P OGS SRR = Fa 1 2

(A) (B)  (CAMGaNE (C) oA (D) =™
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16. ISR AN R oteist 9« geyd ersT ?
(A) ¥ (B) gamd (C) <aA (D) W

16. queAErR fefafed # @ fora So = T8 =@ €2
(A) = (B) I (©) e (D) iE

17. The Civil wars termed as the Wars of the Roses was fought for which throne ?
(A) British throne (B) French throne
(C) Russian throne (D) Spanish throne

17. (3 PRI @ (=27 7 (Wars of the Roses) S5 92 &I ATw (2feet ?

(A) = PirzpH (B) I PRz
() ifear Freaem (D) it P

17.  (olleMCa Y& (Wars of the Roses) SIT 26 23z afel (@ PREPIER =) A0 20MRe 2
(A) &= Ficam (B) =T FrRarw
(C) AR Pireaem (D) = g

17. TEHRRI TRl (Wars of the Roses) Hf & IR oel TSITHEEAM A& SAEH ?
(A)  dfqe TeitEe™EA (B) Wl USITEREA
(C) ufgant+ TSifEeEa (D) Ef i USifEeEH

17. & % g§ (Wars of the Roses) g M aTel 8§ T g & fag g & 97?2
(A fofew fogmm (B) hd fogred
(C) &I e (D) w11 foerEA

18. The value of \/0.09 + /1.69 is:
(A) 1.78 (B) 1.6 (©) 1.33 (D) 1.5

18.  /0.09 +1.69 I ¢
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5

18.  J0.09 + /1.69 &< T ¢
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
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18.  /0.09 + J1.69 F#MT:
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
18.  0.09 + 1.69 T HIT :
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
19. Which of the following is a State of the United States of America ?
(A) Hawai (B) Fiji
(C) Papua New Guinea (D) Solomon Island
19. NGRS @R SR Feg 92t e 2
(A) AR (B) ffer
(C) fi=far fWefaf (D) b G717)g
19. TI6F I N gEAIE 95 57 2
(A) Qe (B) fefe
Q) o [T wfm (D) GG Gio19)&
19. TRMEM S&@ SHERT ST G A IS ?
(A) TEE (B) fwfs
(C) rgen = fiifq (D) §'a'"T fqumr
19. frfafed § @ SF-91 9gF T5F SR &1 TF TF 82
(A) e (B) fwsit
(C) mgen =g frit (D) Wi g
20. The Padmanabhaswami Temple is in which city ?
(A) Bengaluru (B) Chennai (C©) Madurai (D) Thiruvananthapuram
20. (I TS 2ANSH W TS 2
(A) @RS (B) @I (C) s (D) fR<wEs
20. AT A (P *2CH SRES 2
(A) ECAR (B) v (C) WA (D) fowamejz
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20. UEMTYRET Hi<q o« T € ?

(A) e (B) = (©) wguE (D)  Taeer=TqeH
20. W i Ry W H 7 2

(A) e (B) = (©) W (D) foeariags
21. Kalbelia is a folk dance form of which region of India ?

(A) Kumaon region (B) Chota Nagpur region

(C©) Konkan region (D) Thar desert region

21. TR SO (I ST (RO i 2
(A)  PIR S=ee (B)  (RIGHIaI7S See
(C) (I Tgee (D) 2 Gl Srees]

21. TR ST (T ST G060y ?
(A) PR S=ee (B)  (RD WI=j S=ee
(C) T« S (D) 2= PGl Siees]

21. HASTAAE YRAM o STTE ge, JEme ?

(A) FHRA AFEA (B) B ARTY A

(C) ek I (D) & STell BT e
21. AN YRA o T & 1 elehged o1 It B2

(A) FHS & (B) Brel AR &

(C) hichUT & (D) ORI &=

22. For which sport was T. Ao the captain of Indian team ?

(A) Badminton (B) Hockey (C) Football (D) Volleyball

22. 5 o8 @HRY (AT SROT Fo{ ST S 2
(A) @IS (B) =™ (C) T5Ie (D) SeTRe

22. 5. N8 (@ (47T SIS Ve Wi 2w 2
(A) GG (B) = (C) T5= (D) Sfere
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22, fe. TEET 96 ARIARARIE HRAM I SeARTR | ?

(A) wsfH=A (B) ®'&l (C) Fead (D) 1 'fetere
22. fe 31 fohm @t & forg vrdr 39 & a9 2

(A) St (B) ®fenl (C) Teaid (D) dfcitaira
23.  Who played the title role in the 1969 version of Dr. Bezbaruah ?

(A) Nipon Goswami (B) Biju Phukan

(C) Dwipen Baruah (D) Brojen Baruah
23. ©° ([EREA] (QETHRE 1969 FFITS (I w1 Giere ifomy e 2

(A) R o (B) gz

(C) Blol F=Al (D) & I
23, T° (QGRFENR 1969 FFHAC (F AL S| #{eT SRR 2

(A) R o (B) gz

(C) RItaAw T (D) e e
23. 1969 TRAAM ©. Iteedl G TEYAE MR ferafidl IR e ?

(A) o e (B) foy g

(C) fgu =r%en (D) SIS o%a
23. <l A% % 1969 GERUT H i yftrert ferda fae 2

(A) T et (B) fag Ferd

(C) fgu sren (D) oS =&
24. How many times has Brazil won the Football World Cup ?

(A) Three (B) Five (C) Four (D) Seven
24. TRl FoE (HoTe Qifercst Bl I SRere S0 2

(A) fefam (B) AR (C) vifas (D) AR
24, IS TR FHAER el fScere 2

(A) fem (B) Mo (©) W (D) e
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24, STl JEHAT Headl hIIEl oY S gl ?

(A) @ 9™ (B) @A (C) wid (D) @@= &
24, SSIA F Feata fowe w9 fohal aR S § 2
(A) = (B) T (C) =R (D) ¥
225 25 16
25. = - = - 2=
729 144 81
R o2 o _5 L _u
v B [B_[6_
) 729 144 81
N 7 o 2 o 3 S|
v B _[B_[6_
) 729 144 81
N 7 o 2 o 3 S|
v B _[B [
) 729 144 81
N 7 o 2 o 3 S|
v B [E [
) 729 144 81
N 7 o 2 o 3 S|
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26. 16% of (16 +16)" ..

16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
26. (16 +16)" o160 73w 3
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
26. (16 +16) g6 21 5
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
26, (16 +16) f5 169, ) g -
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
26. (16+16) 77169, wm 2 -
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
27.  Who is the Director of the movie “Village Rockstars” ?
(A) Rima Das (B) Hima Das (C) Munin Das (D) Queen Das
27. “foreTs BRR AR @EHR 491 Now @ 2
(A) S WA (B) feari wpy (C) I 7 (D) FEAWA
27. “fSreTe T0 1R BATbLE 2IRGIES (& 2
(A) e wm (B) feaui wid (C) = WP (D) & wM
27. ‘‘fuest Wherd'' g geEgEfT SeAfiE 9r 2
(A) o™ (B) Tfewmz™ (C) HH T (D) %1 S
27. ‘‘focrst U™’ fhen & feemes i € 2
(A) fwsm (B) Tewmzm (C) HH T (D) %1 ™
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28. Which is the odd one out of the list ?
(A) Chapters (B) Preface (€) Index (D) Book

28. REE SifeRe® (FING! Sfle 2
(A) SR (B) Il Q) ! (D) fFeivl

28. Sifela (@G sl &Ko 2

(A) SR (B) I&= ©) b= (D) =’
28. TR WG AR fag -
(A) @@= (B) M ®RA™ (C) Tl Wik (D) forsirat

28. A HA B AIAST?
(A) FEH (B) el (C)  STIshHATUTEhRT (D) Y&

29. Toyota has its headquarters in :
(A) China (B) South Korea (C) Singapore (D) Japan

29. TS HITR Ly PR oRIZ© ¢
(A) (B) wre (IR (C) Tozal=F (D) e

29. (BICAGI 3 weld AR ¢
(A) b (B) i (i (C) Prmrvm (D) @i

29, Z'F'q RE Heg a1 781 ?
(A) =M (B) Wrel i (C) famgR (D) SIaH

29. SR 1 qEAeE el e ®
(A) == (B) <faur wifan (C) famgR (D) S

30. Which word would you replace for the underlined word to reverse the meaning of the
sentence ?

“Food in this hotel is worse than that provided at our hostel.”

(A) good (B) Dbetter (C) Dest (D) excellent
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31. A cone has a base radius of 4 cm and height of 9 cm. The volume of the cone is :
(A) 36w cm® (B) 48w cm® (C) 13w cm’ (D) 24w cm®
31. @5 %539 BT AP 4 (5.1, 1% 217 Tl 9 (5.fl. | *IRPCOR ST (202 2
(A) 36w .3 (B) 48w (v.f3 (C) 13w .3 (D) 247 5.3
31. I =ga SRR 4 ELAL @32 Tl 9 GLIL | *50a Siwes & ¢
(A) 36w (L3 (B) 48w LM3 (C) 13w @3 (D) 247 GLRW3
31. 7Y SEgM FEER W e 4 9./, o Sitemgan 9 9.4, | 9 Sierg IS s&ei ?
(A) 36w G.fa3 (B) 48w Q.fal3 (C) 13w G.fus (D) 24w Q.fa3
31. T IF o YR ot B 4 Q. IR =€ 9 Bt ® 1 3y o1 3T ©
(A) 36w 9.3 (B) 48w 9.3 (C) 13w 9.#H.3 (D) 24x QI3
32. Identify the correct mirror image of the figure.
—>
|
< < —> <
(A) (B) (©) (D)
— —> <— —>
32. e foas wa wieolld AfsRFE! forre T |
—>
%‘
< < —> <
(A) (B) ©) (D)
—> —> <— >
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32. =ve foraa woltag s fely s e e |

—

32. smEAmEE e e e 9mE’

(A) (B) © (D)

32. 3Rfd sl G2 U0 Bf wg=H |

—

33. Who amongst the following has been awarded the Gyanpith Award in 2024 ?
(A) Gulzar (B) Arup Kumar Dutta (C) Ratan Thiyem (D) NilamaniPhukan

33. e @ sRISIT 2024 IS @AY 6! 2 <1 20T ?
(A) TSR (B) S@meiFRwe  (C) Fod (D) eI T
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33. IR TEiem@ N (& 2024 I REAS TR ©R© 200 2

(A) TSR (B) SRAFIMTE  (C) Fodl A (D) <reTIe Fa
33. 2024 AEUAM FAUS SREl W HEA! M SRl 2

(A) TSR (B) I FAR T (C) T foam (D) Tre'af e
33. frmfafed § & fd 2024 % FEHE SRR § wria foman mem €2

(A) TSR (B) Y FAR T (C) A feam (D) e Fehe
34. In which sport did Monalisa Baruah (Mehta) and Tridib Duarah represent Assam ?

(A) Badminton (B) Volleyball (C) Taekwondo (D) Table Tennis
34. (FERE (4TS bl 941 (TIRel) wiF: fava TR s afsffag TR 2

(A)  @ERrET (B) GeTIe (C) TizrFRITe! (D) 537 (G
34, (NPT TRl (IRl @R @ IR (I (4 SRR elfsiniag FEfRe 2

(A) TIERT (B) SfeRe (C) SRR (D) GReT @GR
34. WA a%an (Fedr) R Ffea gormn 9« aereRHEE! ST M e ?

(A)  defied (B)  fctaret (C) dmE Mg’ (D) dfea afr|
34, TrferEn sweT (Fgan) IR fafca ger 7 fora o # omm =1 wfaffe fopan 2

(A) defHed (B) afchalra (C) TrEEEEl (D) <oa fE
35. Which of the following countries is the farthest from Andaman and Nicobar Islands ?

(A) Myanmar (B) Indonesia (C) Vietnam (D) Malaysia
35. SN SIS fCFRT Floi7lgd 2[1 (@iee (mita @y -G 2

(A) TR (B) Zreif (C) fewbam (D) erafe
35. TR (I (TG SIS @ FGPRE @1915)g (I IR 1 2

(A) SHRISE (B) Wit (C) ferrea™ (D)  STleTcm
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35. o9 B A<M 3R a6 'aR feusmRH%R SHfgarE ?
(A) ®IFHR (B) = '\fgen (C) T (D) HIAERA

35. frAfafad § & -9 <9 sfenm iR R g oqg & 98 T 7?2
(A) MR (B) ZeHfmn (C) foara™ (D) weifern

36. If P, represents the product of the natural numbers from 1 to n, then P;+P,+P;+P, is:
(A) 23 (B) 33 (C) 37 (D) 31

36. M 19 791 n (51 A FRAIETE TS A P, (& BT FCF, (9CF P +P,+ Py +P, T A 2
(A) 23 (B) 33 (C) 37 (D) 31

36. M1 (AT n *RT FroiRP RAefer wozwe P, gl e ol @ w@ Py +P,+P;+P, 7 ¢
(A) 23 (B) 33 (C) 37 (D) 31

36. Jfc P, S At st 1 @ n fomf Seserme! geieE, o7& Py + P, + Py + P, 1 7
(A) 23 (B) 33 (C) 37 (D) 31

36. AP, 1 ¥ n T I THioh TN I [OHA I M 8, T P, +Py+ Py + P, i TAA 2
(A) 23 (B) 33 (C) 37 (D) 31

37. The three angles of a triangle are in the ratio of 1: 3 : 5. The largest angle of the triangle is :
(A) 70° (B) 90° (C) 120° (D) 100°

37. bl fagem fofG (e 7 1: 3 : 5 SRollos =zl [qoeh Jges e 9 2
(A) 70° (B) 90° (C) 120° (D) 100°

37. <36 fqored fodlt (@R Sigsire 1:3: 51 fageioa 3z @b 21 ¢
(A) 70° (B) 90° (C) 120° (D) 100°

37. T AMEUUMT @ AIERMA TG 135 | AT @M
(A) 70° (B) 90° (C) 120° (D) 100°

37. U YT & A= I 1:3:5% U B 2 &1 S 1 Tod I/g1 0T ¥

(A) 70° (B) 90° (C) 120° (D) 100°
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38. From the Constitution of which country, the concept of residual powers in the Constitution of

India has been borrowed ?

(A) Belgium (B) Canada (C) France (D) Switzerland
38. RO FRLTE SRS FASE (Al (F (P A1 (I TR 2

(A) (@I (B) Bl C) =™ (D) pEEICaTY
38. OIS MR SR ST AN (Pl (FOAI TR (ACF I 411 ZCACR 2

(A) e (B) Gl © zm (D) REIEETIE
38. S TR Wi WAl Sfafsere Gl siel BIeXf Sfatsre =T efrer T S 2

(A) SfsE™ (B) hMIeT (C) wrd (D) YESIReAvS
38. WNA & wfaum ¥ srafere smareii wf stauron few T % diaum | ot T § 72

(A)  SifcsEd (B) TSI (C) W™ (D) fEzseie
39. To which emperor was Chanakya the royal advisor ?

(A) Samudragupta (B) Ashoka

(C) Chandragupta Maurya (D) Skandagupta
39. BIFRH (I oI AF(BI AGHI TATTR! Ilfes 2

(A) TEed (B) SICHIIS Q) vmad G (D) FweY
39. DI (Pl AFIGA A GAWS! fotei 2

(A) TEY (B) I (C) TmeY TR (D) Fwedy
39. TS I HHEM TR A6 SIFTREH 2

() FHRTS (B) o (€ wEEEE (D) FEIE
39. U fohd THTE % AR TAREHR 9 ?

(A) T (B) 3Firh (C) ey W (D) e
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40. Which of the following countries does not exist presently ?
(A) Switzerland (B) Czechoslovakia (C) Germany (D) Poland

40. TI=fRe @R oiT TSN AT Oy A1 2
(A) LIRS (B) GFwiteRm  (C) W (D) CofiteTes

40. TIA (I (I TS OBY =3 2
(A) TSR (B) e (C) wfif (D)  (offeTres

40. TEMEIM 96 TIEU sTfeehTera Hfern ?
(A) HEERAITS (B) <&'w'afeRa  (C) S (D) ToE

40. fr=fafed # @ oF-91 <9 adum § st § & § 2
(A) fases (B) <hrdEnRAl  (C)  SHAT (D) UrRie

41. Three numbers A, B and C are such that the HCF of A and B is same as the HCF of B and C. If the
LCM of A and B is three times the LCM of B and C, then the ratio C: A is :
(A 1:9 (B) 3:1 <€) 9:1 (D) 1:3

41. fSfSBI A2 A, B SN% C QWS SN2 ACS A i< B F 9071@ B % C F PQF 10O JN | I A 19 B
7% B 9% C T &71%F fofd @9 2 (o8 C: ATJ 8
(A) 1:9 (B) 3:1 © 9:1 (D) 1:3

41. T 1201 A, B @9 C G5+ (T A @32 B G 5191, B @32 C & 511 7 | T A @32 B G o711 B @3
C @3 #PT1e fomed 23 OE Sigsire C : A T ¢
(A) 1:9 (B) 3:1 © 9:1 (D) 1:3

41. A, B, C 3HHM siamfc S A TR B <.ond. a1 B TR C 4 q.eman S ¥9H 1 Sfc A 3R B
S.ALHL A1 B AR C 11 g 314 7 |esmermem, steel C o A 1 e5jemn
(A) 1:9 (B) 3:1 C 9:1 (D) 1:3

41. o F=AT A, B 3R C UH € fF A 3R B 1 HewH THYed®, B 311 C o1 HedH HTeds & GAH ¢ | afe

A 3R B &1 A9 GHYEE, B 3R C % ol5[@H HIac I dH 1 8, @ STad C: A ® -
(A) 1:9 (B) 3:1 Q) 9:1 (D) 1:3
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42. On which island hillock is the Umananda Temple situated ?
(A) Bhasmachal (B) Sandhyachal (C) Nilachal (D) Chitrachal
42. (L TAralel Here el Ave SRZS 2
(A) @b (B)  T=Tbe (C) e (D) foan=
42. (I 2o o Taew I sRfES 2
(A) T (B) TIbeT (C) TreTbeT (D) Poawe
42, 3HE= Hi<U o9 feu ersii-foretrare § 2
(A) wEHTEA (B) HATIA (SERESIE (D) T
42. IAME AR forg werel g W feem 72
(A) HE=A (B) HeATEdA (C) ar=a O REEES!
43. Which of the following is a stringed musical instrument of Assam ?
(A) Dogor (B) Xutuli (C©) Kaaliya (D) Tokari
43. GRS (@G (202 SR 9T ©9ge IAME ?
(A) IS (B) gl (C) iferan (D) @GR
43. SIHA (PG SPTF G0 SRS AW ?
(A) (B) el (C) et (D)  (BIFIT
43. TTETE SIS SAEM T8 A1 S 2
(A) <R (B) &df@ (C) e (D) TR
43. Trafafed § @ S99 91 /W F1 U TRIF G AR § 2
(A) TR (B) gl (C)  =hiferan (D) kRl
44. What should correctly replace @ in the grid ?
13 | 450 | 30
21 @ 8
32 | 782 ] 23
(A) 196 (B) 184 (C) 214 (D) 658
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44. faws 45 @ ozl g afogieom 7 ¢
13 450 30
21 @ 8
32 782 23
(A) 196 (B) 184 (C) 214 (D) 658
44. IR @ B (@0 AfFera Afegif+e a3 2
13 450 30
21 @ 8
32 782 23
(A) 196 (B) 184 (C) 214 (D) 658
44. @GS IR GG BRI ?
13 450 30
21 @ 8
32 782 23
(A) 196 (B) 184 (C) 214 (D) 658
44. TUs ¥ @ % 9& % T F1 gl Al ?
13 450 30
21 @ 8
32 782 | 23
(A) 196 (B) 184 (C) 214 (D) 658
45. Who of the following is NOT a Lawn Tennis player ?

45.

(A) Leander Paes (B) Vijay Amritraj
(C) Mahesh Bhupathi (D) Pullela Gopichand
RIS @RS o7 Gz (403 T2 2

(A) TTReR (o (B) fRer Srpesie

(C) e geffe (D) el (N
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45. IHA (G & (G (ARG 7 2

(A) TTReR (7 (B) R orywaie:

(C) ¥l goifo (D) el (alifoni™
45. TEMEE S g TSRE 9R o df 19 Tern T ?

(A) fod=Rr = (B) forsta smaast

(C) wew yu'fa (D) YN =
45. frefafeg & @ # @F <" faard @& 82

(A) fadet T8 (B) fasm smaTS

(C) W ufd (D) Yeten =g
46. Which Continents does the Mediterranean Sea lie between ?

(A) Asia and Europe (B) Europe and Africa

(C) North America and Africa (D) South America and Africa
46. (I 7 TR TS I SHES 2

(A) @l o= ToCEI (B) TT@I% == Wil

(C) TS N SIS i (D)  wf=rel SCTTRPl Tf<e SNifp<sl
46. GNP (PN GG RIICAR (L SR(FS 2

(A) @Rl @3 TTCEIA (B) TR @R Wil

Q) T SRS @3k Sl (D) wfEre TSR @32 SNl
46. AISRANTR StelieT F/& WA SIeTHIf FoRTd ?

(A) T AR 330 (B) I3 W Ak

(C) HI-3THRER & AR (D) Gre-STHfER SR A
46. oFeA WR ford wemgdl o o9 fee €2

(A) TR SR (B) I IR TR

(C) T TR 3R TR (D) <faor iRt SR STRieR
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47. Which of the following is different from the rest ?
(A) Samaveda (B) Rigveda (C) Yajurveda (D) Ayurveda
47. NGRS (S RIS 54T 2
(A) AW (B) M (C) g (D) I
47. S @0 SR (AT 7 2
(A) MW (B) =itam (C) TG (D) =R
47. TREMA 9& WG TIABRAHE a1 ?
(A) TG (B) fomae (©) TR (D) STz
47. Trafafed § 9 =6 @fed § =32
(A) WEE (B) R (C) I (D) R
48. Which present region of India did King Lalitaditya (Muktapida) have his empire in ?
(A) Northeast India (B) Kashmir region
(C) The Kutch area (D) The Deccan region
48. IS SRGIIT (FIv TETS I FAfeTolne) (TS I J=ey SNfes
(A) TeIsReRe  (B) IS S (C) TR EE (D) wifEpeey Sees
48. IO SRS (P TLLTH A AT (J&(#M!) Ay =1 2
(A) Te-sFeome  (B) MR S (C) FoRwE (D) wifEpeTey Sees
48. TS dAfadiieed (Faamaar) 1 AHTEsist SfeEra YRafq s« SHdemE ?
(A) H-UEST ¥RA (B) HRER € (C) hos 3iEid (D) SR HE
48. TS Afidifee (HHTHIS) 1 UHSA YRA & ford odaE &=t § o1 ?
(A) AR 9Rd (B) HYHR & Q) w3 & (D) T &
49. Who or What is Doraemon ?
(A) A river in Brazil (B) A Hollywood actor
(C) A type of aircraft (D) A cartoon character
49. (OIS 6 19N (I 2

(A) FifewTm = a1 (B) @I ERITT STl
(C) R 9! =R (D) 5! G 5f7@
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49. (O (T AD! 2

(A) FifeeR (G a1 (B) zfelET w3 wifSETel
(C) & &R R (D) &% Fp 5i7G
49. AT IR TS A ?
(A) SfSTet (B) Tfagef wafefafii
(C) TEmd Y (D) Y HEA-3T1g
49. SN BFATAFIE?
(A) SIS i Th et (B) Uk BlcAlgS e
(C) T YehR I o (D) T hled A

50. Which sport did P.T. Usha play ?
(A) Athletics (B) Badminton (C) Table Tennis (D) Cricket

50. 5.5, Tai2 @y (deme wixiam SR 2
(A)  9AETHFR (B) @SRIGH (C) (53 (b (D) f&=b

50. .. ©F @ (LT (HeTres 2
(A)  SHACEGH (B) TEMIGs (C) (o= (B (D) f&6

50. fa.fq. s A e ?
(A) Tifesd (B) osfh=ed (C) dfda afta (D) fohehe

50. 3 WA HE-T WA Tl ?
(A) Toaifesm (B) wefHed (C) a1\ (D) ToRehe

51. Identify the sport related to (Major) Dhyan Chand.
(A) Football (B) Wrestling (C©) Boxing (D) Hockey

51. ((T&R) 6T (100 TS (&1 TN Bl 75 |

(A) FH (B) W& ©) Iem (D) =T
51. (TT&R) Gii=biwd A JTiFe (4l ize w5 |
(A) T (B) & C) o= (D) T
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51.  (HSR) SAE<el 96 sl JiHral A 2

(A) Fead (B) THARAE (C) HemEaE (D) Bl
51. (WSR) ©M=e § Haifdd Wel i 98 |

(A) s (B) (©) TeRhaTSit (D) @R
52.  Which of the following is an Assamese jewellery item worn in the ears ?

(A) Golpata (B) Horinsokua (C) Jonbiri (D) Thuriya
52. SRR (FIRCGI (202 SIS Bl @ ST S/l 2

(A) oSl (B) el ©) camfaf (D) gf=
52. WIOA (PG G SETTRIT SEAei A PICT 2111 & 2

(A) oSl (B) el ©) CcamRf (D) gfm=
52. TIRMEMN o6 STHHAT TRl WS T ?

(A) Terd'd (B) ®fFmgpen (C) AR (D) g
52. frefafed § 9 HF-F wFE1 H 9871 S oTen ST SyE § 2

(A) Terqan G IRISEEE (C) SiHfedt (D) g
53. The longest diagonal that can be found in a regular cube of side 1 cm is :

(A) 2cm (B) 2 cm (C©) 3cm (D) 3 cm
53. 1 (5.0 AT @F 7 T AR 2] Tos F9 0 ¢

(A) 2 @A (B) 2 ®.: (C) 3 @A (D) J3 @GN
53. 1 Cif¥. A g asf Fafirs s sigee 4 =@ ¢

(A) 2 @MW (B) 2 @R () 3 @il (D) /3 @AW
53. WY 1.4 ¥ T s wrefes @' g

(A) 29 (B) 2 9.f (C) 39 (D) 3 9.fF
53. 1. o arel fafad == o e s aren 9ol o fawl §

(A) 29 (B) 2 H.HI. (C) 39 (D) /3 9
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54. As per the diagram, which zone represents married nurse who should be sent for training ?

Nurses in
Hospital
2

1

417\ 5\
6 3
Married Trained Nurses
Population
(A) 2 (B) 4 < 3 (D) 7

54. 2@ Hag (@R SikH 2frwe A sifSTkee Rafze «feiters afefifag s 2

Hieeere e
Ao
2
1
417\ 5\
6 3
: Ewwgmzfﬁw I IERIEER
(A) 2 (B) 4 < 3 (D) 7

54. =7 foq SPIE @ Sifs af e ow 2o The [Kaifzs apfrm afsffag s 2

ZAATSICER T
2
b/ 7\ 5\
y 3
faifze s © R
A) 2 (B) 4 < 3 (D) 7
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54. SR T, 6 GIRST BRIAE AHl dFe THbRE! fefer ?

R LIS RIE]
FEHBR
2
b/ 7\ 5\
6 3
2 IO A
FIHR I
(A) 2 (B) 4 < 3 (D) 7

54. T T oT@ % ATER, S 91 & foanfed 79 =i gwiar & 99 uf¥neror & fer d=m st =nfew 2

I ATA
Gt
2
b/ 7\ 5\
6 3
[ =t
(A) 2 (B) 4 <© 3 (D) 7

55. The product of the mean and the median of the data set1,0, —5,3,0, —2,4,6, —4,1, 2 is:

55. @G 1,0, —5,3,0, —2,4,6, —4,1, 27 G S AGAF [T 2

55. O ARE A 1,0, —5,3,0, —2, 4,6, —4, 1, 2 97 T G- VLT SO 257 8
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55. WIRA™ 1,0, —5,3,0, —2,4,6, —4,1, 2 7 ToRfY R SRAT AHSTeRTET
S e 6 9

(A) 15 B) 13 © 3 D) 1

55. A WS 1,0, -5,3,0, =2, 4,6, —4,1,2F AT AR AR HT OGS ©
> 7 o 9

(A 35 B) 13 © 3 D) 1
56. Which state is the official sponsor of Hockey team of India ?

(A) Punjab (B) Odisha (C©) Haryana (D) Uttar Pradesh
56. (I ST SIS T | W bIFIN| FBCARTS 2

(A) AgR (B) Sl (C) fz (D) T&F AT
56. (3R ST ST 2fF W IRHE ICATF 2

(A) #ligR (B) efxl (C) = (D) TR el
56. MRAM 8Tk FHSTHI SRETN #AE BT TFSia o ?

(A) T (B) Sfemm (C) e (D) W ¥eW
56. A i Biehl AW ol SYEHING TSI HIH-H T4 § 7

(A) TS (B) ifesm (C) efeamm (D) ST g
57. Which State is the Dandiya Raas a popular folk dance of ?

(A) Rajasthan (B) Gujarat (C) Odisha (D) Maharashtra
57. WIS AT (PN ST G GRS (EIFTS) 2

(A) FrerEE (B) woTE(G (C) T (D) =N
57. ©ifew P (I ACSHT G0 SIS (@) 2

(A) AETEH (B) w&ElG (C) sfox (D) “=IZ
57. <If<d T 9 TFSI g 6™ ?

(A) TSTEIH (B) TS (©) Sfed (D) e
57. Sifedn T4 fhd T57 1 AT @ T § 2

(A) TSTEIH (B) TS (C) enfewm (D) wers
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58. If sinf =cosH then the value of 1+ tan® is :
(A) 1 (B) 2 © 0 (D) V2

58. IMW sind =cos0, (O 1+ tand I A &
(A) 1 (B) 2 © 0 (D) V2

58. M sinf=cosd 2 O 1+ tand «J I+ 3
(A) 1 (B) 2 © 0 (D) 2

58. f< sinb=cosd el 1+ tand 1AM :
(A) 1 (B) 2 © 0 (D) 2

58. dfg sinf = cos0, W 1+tand FHHAA T :
(A) 1 (B) 2 © 0 (D) 2

59. Yesterday just after sunrise Rajiv met Samir and was talking, when Rajiv noticed that Samir’s
shadow was seen towards the right of Rajiv. Which direction was Samir facing ?
(A) South (B) East (C) West (D) North

59. R JEIRR 0% Fiere IAGIE T @9 2112 U 21fS AR AGIE 7% FRE @ AT D!
G EIRT FIE BN AN (Fi frere 2 S et 2
(A) Wil (B) R (C) =If<ow (D) Tes

59. 9IS MR #92 AG R TNEF A (72l F(E I TR, ©4 AG R 75 e (@ TN 2 AG &R
T WG (7l o1 AT (I e 32 R s 2
(A) wf=e B) & (C) =if¥5w (D) =

59. T 9F A e i i@t |l 39 ST T T e Jeer fe iRt arraet
i STRTRTTY Trera) | | Seifel At STeiAe 2
(A) e (B) HrSIY (C) HHmEfy (D) HEIY

59. %A FAGT o 3tk 91G o FHR 9 fHel &R o 3 W) 9, a4 Teia 7 <@ i 96k a6 WeE IS &

TIfet IR o ¥ @ ot | wHR 1 qu T o & en?
(A) <faqo (B) & (C) ufv=d (D) W
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60.

60.

60.

60.

60.

Which of the following is an example of Indirect Tax of India ?
(A) Gift Tax (B) Income Tax
(C) Goods and Services Tax (D) Capital Gains Tax

S N ey

RIS (0] Ses @ T4 L‘]ﬁsh\?a‘ﬂf{ﬂq ?

(A) ToRRIF (B) SIRRH

Q) I SR CRI 9 (D) E| TS 39
T3 (A SRS AT I ThiAe 2

(A) TR (B) I

(C) 8 R (D) &1 311 1

NIRRIEICERIR EGIERE BN RIRCISIBIEREICIE N

(A) TH @S (B) ™ @WNIAI

(C) YA TR A GISiHAl (D)  Yferet ATl TSI
frefafed § 9 -9 YRd & 3T9cg8] ¥ h1 e § 2

(A) ITRR (B) 3TIHT

(C) %] Td qal (D) USIT &1

61.

61.

61.

61.

61.

If SATURN is coded as TZUTSM, then how will URANUS be coded by same plan ?
(A) TSZOTT (B) VQBMVR (©) VQBOUS (D) VSBOVT

Tt SATURN & TZUTSM 251t 57 4 27, (S0 A7*! 7a(d URANUS F (SIS F'C 1 29 2
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

I SATURN (& TZUTSM @1 FFoe 31 2, OIRE @2 77l URANUS (3 SR A ge
AR ?
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

€ SATURN 1 #e@&t TZUTSM @IeiHI, 37sal URANUS 9 #e@t AT Wetr i ?
(A) TSZOTT (B) VQBMVR (©) VQBOUS (D) VSBOVT

IfC SATURN &I TZUTSM % &9 | whifed foran T §, @ 36 A1 & 3TT8R URANUS &1 oy whifed
ERISIUIY
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT
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62. Who amongst the following is a wrestler ?

(A) Baichung Bhutia (B) Lovlina Borgohain

(C) Sushil Kumar (D) Karnam Malleshwari
62. FERIRS (SFERIF 9 N 2

(A) PR OO (B) ISRl AR

Q) PTEFIS (D) <wfar Py
62. FRFRCmW M (F 9T FBAR 2

(A) iR giowl (B) wefei F@eala®

(©) T (D) Pl TCeTeT
62. TIEMEM HR &1 GHEAEI ?

(A) =g yfen (B) Wl STl

(C) it FAR (D) HIUTH Heelgard
62. Trfafead & | &M e €2

(A) =TEET ofe (B) eI SIS

(C) YT FHR (D) UM Heelwardl
63. The remainder when —46 is divided by 3 is :

(A) -2 B) -1 © 1 (D)
63. —46<F 3 (I 2 SR A SINCAE (202 8

(A) -2 B -1 © 1 (D)
63. —46 (F 3 I Ol FCT ST AT 2

(A) -2 B) -1 © 1 (D)
63. —46 Tl 3 S T LTAE TG :

(A) -2 B) -1 © 1 (D)
63. & —46 %I 3 ¥ fauioa feran S &, At YRt B

(A) -2 B) -1 © 1
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64. Who wrote Pride and Prejudice ?
(A) Jane Austen (B) Barbara Cartland (C) Agatha Christie (D) Virginia Woolfe

64. 2T 99 [Agor A (I TR 2
(A) &= e (B) AR FBere () wenel fE (D) wifefa T

64. (T 22T 99 [AgwIZT FAC 2
(A) T S5 (B) IR FOeme () =il fFHe (D) wifew e

64. F7ET TUE Ffed W WX ferwr 2
(A) S FEA (B) WRON &eive  (C) oM frfe (D) wRfSIf 3T

64. FEE TE Yyley foan foan?
(A) S A (B) WURANI ®ie  (C) wmen foheet (D) S 9e®

65. (1% of 1)+ (2% of 2) + (3% of 3)=?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

65. (19 1%)+(292%)+ (39 3%)="2
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

65. (199 1%)+ (2 &9 2%) + (3 &< 3%) =2
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

65. (1M1%)+2%™ 2% )+@ 3% )="
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

65. (11 1%)+(Q2 1 2% )+ (3 H13% )="?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

66. Which of the following does saliva in our mouth help to breakdown ?
(A) Starch (B) Protein (C) Vitamins (D) Fat

S N ey

RfIRe (@R RTesiTse 7127 3 2

66. SIS YIS A AL
(A) AR (B) AR (C) e (D) &
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66. WIBA (FIHI ZECT SR JCAF A ARG IR 2
(A) AR (B) celifon (C) e (D) &

66. A1 S GSTE ARG FIHEATEE THSTE S 2
(A) wEfg (B) wfed (SERECIEE] (D) ¥

66. TAR Yg H @R fr=fafad § 9 foas foase § ueg &t 82
(A) = (B) WrRH (C) ot (D) =&

67. A + B means A is to the North of B; A%B means A is to the East of B; A — B means A is to the West
of B; then in (Neptune % Saturn + Uranus — Jupiter) Uranus is in which direction with respect to
Neptune ?

(A) South - West (B) North - East (C) North - West (D) South - East

67. I A+BITL A (5! BI TR o® Wicg; A%BI oL A, B3I 97© WMt A—BI 9L A, BT 2R3 g,
(ST (2R % ¥ + 2TEAR — JTHI6) © (F9Ge AATE 28R (P! WS SRZH T 2
(A)  wEre-oifeox (B) T&oR (C) Te-7If¥sw (D) wfEpel-s[a

67. I A+B I AT B 93 T&F; A%B I A 2 B @3 o7 W A—B Wi A 291 B @7 2IfR60w; orga
(25 % *If + TTEAPT —JT=6) (O TTEAPT @HARER AT @i e shfFe 2
(A)  wiee-s{f¥ew (B) T (C) Te-sifeew (D) wiEee-o

67. S A+BTH fiforn - A @1 B ww@If; A%B a1 - A3 B A, A—BA - A= B AF@f, ot
(FTGA % IR + 33 — TeSA(ig 37 ) I TaGAH Fqafef ?

(A) Te-dFEtd (B) |- 9 (C) H1-FHEf (D) @Il - Fs

67. ACA+BHFIAITTH A BFISRAR, AUBHF A TTHF A BF W AT A-BH A4 B fF A, B afdem
HE @ (0= % 9 + 99 — ge9afd) § F9=d & gy # ey fong faom § 772
(A) cfw-ufem (B) SW-TE (C) Sw-ufead (D) <f&U-gd

68. A person purchases x number of items at the rate of X x per item. The shop-keeper gives him a total
discount of X x after which he pays X 156. The cost per item after the discount is :

(A) %13 (B) %12 (C) %16 (D) %14
68. T (T x TS x FRAF AT T FRCE | (PTG (06 JJ T v 210 (721 2 F919 +412e (08

3 156 AAR0NY FRCT | (@22 MR Al 2AfSTh! ANTIH FIE (2R 2
(A) %13 (B) %12 (C) %16 (D) %14
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68. TG G x T AN R x T G IC | (AP S (6 X x WY (SRR 2 (37 T 156 ARG 56 |
QA +7 2ifols AT e 2 ¢
(A) T13 (B) T 12 (C) T16 (D) T 14

68. WY AHTAT x HATRRG! HHUAE T x 9T SHM a1l | BEAET fodl 314 T 1 T @™ 3™ 3Aa fodi 3156
T O | B BEHRIM A6 HiAY HaTi o8 oF ?
(A) T13 (B) T 12 (C) T16 (D) T 14

68. T AfK T x UM 3TEeH o X Y x 3TEH BUSA ¢ THMRR Y $dd  x & B2 a1 ¢ 99+ 9% 98
% 156 1 A A &1 B & IS Ufd 3TEeH i AN ¢ -
(A) %13 (B) %12 C) T 16 (D) %14

69. Which of the following places does not host IPL matches ?
(A) Mumbai (B) Dharamshala (C) Patna (D) Hyderabad

69. xRS @FHG! T IPL (SEfH97) THZ SR 727 2
(A) TFE (B)  &<wIIeTl (C) Al (D) TEHERM

69. SI6F (I GFANT IPL (SNFfo1aeT)-97 (47 S h 1 2
(A) IR (B) &sheire! (C) 5 (D) ZIERW

69. TRMEM sel SEEE [PL ($TE9Te) 1 sTeremEm S ?
(A) T (B) AR (€) e (D) THESEIR

69. frfafad § ¥ SF-W T IPL (STEdTa) #=0i 3t Asar Taf i § 2
(A) HeE (B) i (©) " (D) =TS

70. A curved waterbody formed when a river changes its course to take a shorter path is known as :
(A) Archipelago (B) Isthmus
(C) Oxbow lake (D) Delta

70. Tl G G P2 S0 oS Tl FIRCE 107 (@ G5l I TeTelaE (@l 2 ¢

(A) 715G (B) Qe
(C) MgaIZw (D) -9
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70. GG T0] AT ©OF 9ifeY AT T QG 2AL (7T O (T IFIFIT ST 615 e 27 ©i A ¢

(A) &i5g (B) @&
(© eHEezT (D) T-%
70. U GRA S A S S i SR arfe Tedi St TS |
(A) Tod g wel (B) ® Y
(C) TRIE S foredn (D) a-fau

70. 9 hIS TG DI T STIAM o T ST A1 SQardt & dl o aTet! SHTIRR STl oh el Sl @ :
(A) EHUHE (B) TICTSHEH
(C) gy et (D) e

71. Which Hindi poet is known for “Madhushala” and “Agneepath” ?
(A) Ramdhari Singh Dinkar (B) Haribansh Rai Bachchan
(C) Sumitranandan Pant (D) Maithili Sharan Gupt

71. (RIS T SR TP SR “fe1299” AE TGS 2
(A) IS PR e (B) =<l i o5+
(C) @ % (D) CaIfeT! bael @

71. (3 2% TR TEie” @7 e’ e ol ¢
(A) TN PR Tweea (B) 2l A2 A
(C) ARG (D) CaIfeeT! *=el @Y

71. 9R f&<t wremsfifn  ayenen’’ o ¢ sifiAguf ' emer fafosmn 2
(A) AR T feTem (B) ®Rew g =
(C) Ha T 94 (D) Hferet wror T

71. HA-91 & wfa  weenen’’ ok ¢ sifiuer’’ & fere ST S € 2
(A) YR 7 foTe (B) BRE® T o=
(C) gfered ud (D) Hferedt RO T
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72. The primary raw material used by the Assam Bio Refinery Private Limited is :
(A) Bamboo (B) Water Hyacinth
(C) Sugarcane waste (D) Banana plants
72, SPT (SR (AIGAIANN 2ECeb Flioes e A (@b 26 ¢
(A) R (B) AWl (NG (C) I ORE (D) TweR
72. ST (& (NGNS AIBCes e e ail ke LI Sibwie 29 ¢
(A) (B) Jpfaei (C) ST TS (D) Tl g
72. oW 9@’ RerAR g, fafiesre swersmn e e gem -
(A) &iEn (B) Gfeam (C) TR GH (D) enfer for
72. 99 9 Rl yeoe fafies g/ 3w foran S aren e fhes seal 91d ©
(A) =i (B) STeisht (C) T 1 e (D) el & Wg
73. A sector of angle 30° is cut out from a circular disc of radius 6 cm. The area of the cut sector in cm?
units is :
(A) 3w (B) 4w (©) 5w (D) 6m
73. 6 Gf PG GF & 771 30° (ol AR GBI Fede FI Threat g5 1 JeSBR cFawe Gk «vve
738
(A) 3w (B) 4w (©) 5w (D) 6m
73. 6 CLI. TP @5 JEFR BIFRS (AT 30° (IR G g6t oI 2 | (&0 (a1l Jeaaiiog Fifer @1.f1.2
PP 26T &
(A) 3 (B) 4 (C) b5 (D) 6w
73. 69.fa. 9w M BE SEAR GG @ 30° @ A1 T 9 Gerdl 81 R SET | 8 ST @it
whiferan 9.f0.2 grfeaE S ¢
(A) 3 (B) 4w (C) b5 (D) 6
73. 6 Q.M. 551 arel U gurR femh @ 30° FIv 1 U Fogs Fel S €1 Fe gU e a1 aewd

A2 g W R
(A) 3w (B) 4w (©) 5w (D) 6m
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74.

74.

74.

74.

74.

Which Assamese movie is based on Bhabendra Nath Saikia’s novel, Ontorip ?
(A) Pratidhwani (B) Krishnachura

(C) Barua’r Xonxaar (D) Agnisnan

SR *EF RN TN TET79/7 FIf S LTS (@S2 SO (@R e (xz 2
(A) dfewf (B) Fpol (C) WARAGNE (D) SIfasH

(I ST DM@ ©EW e XBF I TS5 SAN ST A W3 ?
(A) dfewf (B) TR0 (C) TR AL (D) wfaF=

MR ofel STHHAT ALY Y=Y Fefoha §e1 "1 SRy grare fsen e ?
(A) wfaeafq (B) FHOrHEl (C) el HER (D) afE™

HH-G TEi fhen weig 1 Aferan o ST=E 37alg T STeid © 2
(A) gfdea (B) HUEEI (C) 3R HER (D) ST

75.

75.

75.

75.

75.

The population of a town increases at the rate of 10% every year. If the present population of the
town is 10,000, then after 3 years the population of the town would be :

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

(I G2 F917T TSIt @S T 10% I 29 Jfan A1 | 99981 T Syt 10,000 T 3 T ST
LT I TR TF ¢

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

@3 *2rEa TR @fs =7 10% 2@ I S| *=afo7 I8T TeRa T 10,000 T, ©=CH 3 TR A
=207 ST B(A ¢
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

Y AR e IHEiet SERi 10% 3R aRER | S[fe STt g5 |e@ist 10,000 3Tea SER 3 4
e Sl S ?

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

Th IER i SHEE & T 10% 1 R F Fadl g1 Afg e i a9 SHEE 10,000 €, o 3 99 918
@ B
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000
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76. Which country are Kira and Gho the national dress of ?

(A) Nepal (B) Cambodia (C) Bhutan (D) Vietnam
76. ISR (I @ (R SO AG-ART 2

(A) oI (B) wwTex (C) oo (D) TGN
76. R G3R (A I IR SO (AN 2

(A) ol (B) cHlw (C) oo (D) fotTe™
76. o STRI =1 3T 91 B SRR @9 ?

(A) U (B) wal'fea (C) 4ad (D) fraTm
76. T iR = frg <o =t T Ak © 2

(A) U (B) hallfedm (C) M (D) foard=
77.  Simplify : \/51 1+ 134 + 542 + 16 + 9

(A) 15 (B) 12 (C) 8 (D) 16
77. I IF ¢ \/51 1134 + 542 + V16 + O

(A) 15 (B) 12 (C) 8 (D) 16
77. I 8 \/51+\/134+5\/42+JE+J§

(A) 15 (B) 12 (C) 8 (D) 16
77. \/51+\/134+5\/42+\%+@ Gl TR e

(A) 15 (B) 12 (C) 8 (D) 16
77. WA R \/51+\/134+5\/42+\%+\@

(A) 15 (B) 12 (C) 8 (D) 16
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78. “The invigilator could not detect that the two boys were exchanging notes under his nose.” What
is the meaning of the marked portion ?

(A) With due permission (B) Right in front
(C) With active help (D) In small pieces of paper

79. Which of the following is NOT an Assamese novel ?
(A) Adha Lekha Dostabez (B) Deu Langkhui
(C) Xekh Pristha (D) Ontorip

S N ey

79. fanfEfe @G 9 e S 98y 2

(A) SN TR (B) (M8 #IRYZ

(OIS EEE) (D) @S9
79. TNHA G SETR GHATA T ?

(A) S (& ABIES (B) (VT #RYT

Q) ol (D) St
79. TMEEM deaT STEHAT T T AST ?

(A) T feren TSt (B) <& g

(C) &9 g= (D) TR

79. Tr=fafed & @ wF-91 srafien Iu=mg & 2
(A) 3T @ SIS (B) TSaTEE
(©) g (D) fad

80. Identify the correctly spelt word.
(A) Conservation (B) Consarvation

(C) Conservetion (D) Conservasion

81. A tank can be filled by 6 pipes in 80 minutes. How long will it take to fill the tank by 8 pipes ?
(A) 45 min (B) 60 min (C) 48 min (D) 70 min

81. @i (B 6 T “AfZeR TRICAE 80 fuifioe s S #iifR 1 (GBI 8 Tie 11277 2R ool Ffcet fFww
RS TG T 2

(A) 45 G (B) 60 WG (C) 48 WG (D) 70 WG
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81. (b i1 6 TG 71 @il =G Fce 80 WG 7wz wieal | 8 6 71 @il @i’ B FCO F© I &I 2
(A) 45 [IfG (B) 60 fIfD (C) 48 [IfG (D) 70 fIfG
81. Tl WHIE! T 6 ifetsii gt 80 fafte a1 71 8 =ifersii 9% Tiere AW ?
(A) 45 faf1e (B) 60 faf1e (C) 48 faf1e (D) 70 fafte
81. T Zohl hl 6 Ul g1 80 THAe T W1 <1 Tehal €1 8 UISHl g Zohl &bl WA H fohaen 9w <vm ?
(A) 45 fae (B) 60 fae (C) 48 fae (D) 70 fe
82. Which of the following is incorrectly matched ?
(A) Class Ilever : Pliers (B) Class Il lever : Nail cutter
(C) Class III lever : Nutcracker (D) Class II lever : Bottle opener
82. RIS (NG Sremeid @l el (== 2
(A) e (T Brem ¢ g (B) faSw (xfix forem ¢ 72 35! Tod
Q) TOR (M feTei ¢ M Tel T (D) faor (@T forem 2 e Al (AT T
82. IR (NG STl FCsTCR 2
(A) =ew (@7 forem ¢ foufs (gired) (B) TS (wdx forem ¢ 14 FHR T
Q) TR (IR feToR ¢ wife (A6 @E) (D) for (@TR e ¢ @ree (e T8
82. TMRMEM el YR S ST ?
(A) gmE 1 fifa : wme (B) ol 11 fifa : SR 31 Sy
(C) g 111 i : T s Hiame (D) 9@l 11 féfia : et @enn
82. Tr=fafed & & #H-1 Tera gaferd &2
(A) T I R : e (B) &I II &feR : 9 et
(C) A III fer : TEsharl (D) A 11 Ta : slidel 3R
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83.

83.

83.

83.

83.

A person moves from P to Q in a semi-circular path and then comes back to P by the shortest route,
which is 4 km. The total path covered by the person in the entire journey is :

(A) @r+2)km  (B) (u+4)km  (C) (m+2) km (D) (2w+2) km

GG TeZ P 541 Q (71 & IO +12! Sfogs F(q W% ©iF 2120 4 5.3, 09 Z7ew #1t2id 77« P =1 9]
SR | NFS SO 1 #2409 5 O (207 8

(A) @r+2 &R B) Er+4RBR Q) @@E+2RBR (D) @Er+2) B

OFG e GFH TLGEFR 212 P (S Q T IR SToz7F Jpron e, (6! 4 .50, Spre 3@ P-(o
FE | S QR i@ il Sfo@=e I (6 #2267 ¢

(A) @r+2 =R B @Er+4 R (© @=+2) B (D) (2w+2) .M

8 A WEeEHR & amH P A% Q fag aereist i safrgs giaw o, 4 f.fa., S p fag
TR | o THfa T 99dl e ?

(A) @r+2)fwefm @B @Ee+4 e (© @+2f®ME (D) @r+2) o

T AfeR AHGTHR 99 H P& Q T STl ¢ 31 fiR e B1e A/ & P W a9« 71 &, i 4 TR 81 9@
I B e gr a9 R T et TR

(A) @n+2) f&#. B) QEr+4)fEd. (O @@E+2fE#. D) @w+2) w5

84.

84.

84.

Which of the following statements is correct ?
(A) Sikkim shares border with Assam.

(B)  Sikkim lies towards the west of Assam.
©)

(D)

Assam shares borders with Sikkim and Meghalaya.
Bangladesh and Sikkim touch the borders of Assam.

RS @0 SfE ug 2

(A) ol 3T SPhR TS 7o 3 |

B) e wprr sifss e w=fgs |

ST TR o S (et AN i e |
AT =R BRFCT ST ST o 53 |

PN @32 (TR A SR H NS AR |

(

(B) MG if*osincas Pifes sf%s |

(

(D) JHACM 3R PR ST T8 R0 |
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84. TRMAM Jd fosfeam o ?

(A)  Tafeerar strams o T |

(B) Tafaewmn stamfT SHTeRT drer! |

(C) st fafaern 3T Heeras fHHThR TSl |

(D) aiares 3T fafern st famrdRe e |
84. fTrAfafEd wodl H ¥ &F W&l 8?2

(A) Tafera =t o9 ¥ o §

(B) fafern st % ufvem ¥ feom 71

(C) 315 i Hrr fafern iR Femer ¥ ordt T

(D) wiTenes iR fafgry @t HHd o1em § ot
85.  Sagor Dekhisa, a collection of Assamese poems was written by :

(A) Devakanta Barua (B) Navakanta Barua

(C) Banikanta Kakati (D) Rajanikanta Bordoloi
85. AT (AR AN SN P! AEZCH! (I fordll 2

(A)  FRIE =AU (B) RT3l

Q) AT T (D) TG PG ICA
85. IT9F (IR 4L SN RO H<Fwow, eTCd0 ¢

(A)  (RIGIFA (B) TR

Q) AT Tl (D) FGIFIE I
85. TFR aRaq, A Greg fasieral R fome ?

(A) SohI T%e (B) TohI<l o%al

(C) @R wreR'fd (D) TSR sRed
85. TR Qe TEfHA wfadst =1 4ug fohdes g1 foran = o ?

(A) SO oS (B) eid s
(C) SITtehid ShTehdl (D) TSHIRId SRS
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86.

86.

86.

86.

86.

A geometric figure has two pairs of parallel lines, intersecting at right angle. One pair is of length
8 cm each, and the other pair is of 6 cm. If the longer pair size is increased by 2 cm each, while the
shorter pair is reduced by 2 cm, which of the following statements is correct ?

(A) Area of the figure decreases (B) Perimeter of the figure increases

(C) Perimeter of the figure decreases (D) Area of the figure increases

@I @ TFeTF Do A (F FAE G- AN @S 92| 3NE@ GRS AfSGR 0
8 (5.f31. =1 wiecaRE Oy 6 (5.3 | 3t wiet (IR ARiRT 2f S 2 (6. 0 3w pf (o efsie
2 (6.5 tF g 9 =, cors MEfefie @ Ofe we 29 ¢

(A) amR CFawe g 2@ (B) @R sif<eT Ifm 7
(C) ToacoE sif=T 2™ =ik (D) TR Faws I 21K

«3f5 Tifsifes fora 12 (ool ST @4 SitE, TR AN (F FE | G0 (eroR adfsa o 8 Eifil.
G} B (ST 6 FLEL | I o7l (weR «fsteE 2 @1 w5 3fds a1 27, vt (@ (eR ¢Feg 2 G
T T, O o (i [T 7o 2

(A)  Toram ifet gt siiem (B) forax ~ffH 3 ~lic=
(C) Tocax =ififa gpt sl (D) foraw sifeT I i@

Y AR Terfaemea s 3 fen siEe @'ty @@= gFH SFE 'R Saf aaeg @ 8 9.
STRETE ST 6 W.f1. | Jfe eafes srra 2 9., W S TR gies st 2 9.0, wgaE S,
37eeT 9 fagferan o ?

(A) TRt e TH st (B) ERFIfS fommn anm arst
(C) ERfirfe fomren @H et (D) ShIferal IR e

Teh SATTHAE STThTd H FHIR @I o & SIS Bl ©, Sl HHHI0 TR Yq=g hid ¢ | Teh SISl i aias 8 Il
, 3R TEd SIS Fi e 6 T T | AR Tl SIS B Yk H 2 At g ST 8, etk B S i 2 FH HH
fepar Tran ®, ot Trefafad § 9 e o1 heF e g ?

(A) SR H AR T2 S T | (B) I o1 TRAT e & |
(C) i o1 qRETY S B | (D) 3THfd 1 &TFHA G0 © |

87.

87.

Two bells A and B are rung such that the bell A rings at every 30 minutes and the bell B rings at
every 25 minutes. If both the bells start ringing simultaneously at 6 am, then the very next
simultaneous ring will be at the time :

(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am

w5l 961 A % B3 A 910! @fS 30 A6 01 03 =i B 9eBIcH! @if 25 it 903 @ AfE T 1
VA 9512 6 am © «rFeTcal 1S S, (S0% 9651 U1 «reical e Tot f5F 7S Aot 2 8
(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am
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87.

87.

87.

b 96! A @3 B WSROI AT T (T 961 A @fs 30 fSIiWCG Aicer @3 951 B eifis 25 [N aieer | 3 swie
6 51T ST T5] G2 AL AGCS ST I, OF 26| G9! A AT 267 ¢
(A) 8:00am (B) 8:30am (€ 9:00 am (D) 9:30 am

A 3R B 5= TG NG SR SR ST A 31 Ydeh 30 THfera S 3Tl B 1 o 25 faftea | Jfe
T TR 'S B 6 T s, STee o Bl A STRIETE WISl | SHSIA ?

(A) 8:00am (B) 8:30am (€ 9:00 am (D) 9:30 am

q ifedr A 3R B 30 YR aWTE St § foh 5 A Y& 30 fige W awidt € SR s B Y@ 25 fre W
It § 1 Afe ST il Gow 6 991 Tk WY S IE & S, O STTel b 91 et T g9F 6
(A) 8:00am (B) 8:30am (€ 9:00 am (D) 9:30 am

88.

88.

88.

88.

88.

A political and legal process by which a legislative body or other legally constituted tribunal initiates
charges against a public official for misconduct is termed as :

(A) Impeachment (B) Re-election
(C) Enforcement (D) Enactment

I R 7Kg 92l SBATSIE 515 S (e TR @i e [T ome oiveeR [oa
AR R ASATSF SR SN2 AfFTF @ 27 2

(A) ST (B) Jef<ioe
(C) TR (D) el

G G © Szl AfEFm 7 7kl @36 WET AT A T ST 515 FrEifaTe SPmbAe
Tel) GG TN FAFOI 07 B9 7 9T T OIS A0 ¢

(A)  wfexiom (B)  etef<iDe
(C) <R (D) wieTEe

o2 AR SRl foratfer SiEst 9l SR o sREr 799 318 gt T 993 AR

ST S SR@’ & st A 3TSIe A&l A7l g1 ?

(A) TS 3] (B) w=@' fHa
(C) SR W™= (D) ST WA

T SR 3R A Tishan feeh 511 U faemdh fem o1 o= & €9 9 Tfea =amanfeeso fordt
greisifen it & fae® Heer & U 3TY 3% F3dl 8, 98 el §

(A) RN (B) IHTE
(C) gerH (D) stfufraae
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89. Who has won the highest number of gold medals in the Olympic Games ?

(A) Mark Spitz (B) Michael Phelps (C) Jesse Owens (D) Paavo Nurmi
89. (RIG SIEI™I (oTE AL FKT (T WS S FICR 2

(A) F Fore (B) WE sz (C) @R @R (D) el 9§
89. SIfel™ie Fiel el (F Mo AT F oe FEREH 2

(A) S Fore (B) iEHE @ (C) (ST ST (D) #ice! i
89. Afcifteeh STEEREATEE el sEi-e sife" ¥4 A< € ?

(A) Tk fegest (B) WEhd Heqd  (C) S e (D) w9’ 3
89. sfcifuer Well o walfteh W0l geh fohe i § 2

(A) Tk foest (B) WIEhHd oW (C) ST e (D) Tl e
90. Which of the following is an award exclusively for music industry ?

(A) The Oscars (B) Emmy Awards (C) GoldenGlobe (D) Grammy Awards
90. WRETRS @GB! AT TSWNR GF PSRN 1 2

(A) S (B) «fil uaGR (C) % (2 (D) (o @[iGR
90. NI (FAH RIS 7T MER @i 7= 2

(A) o=F (B) «fSl o5=lx (C)  CNTTH (ol (D) eyl 7=
90. TEREI F& ST SHARE-SA™ fHsicl’ JHl g ?

(A) ITERRH (B) TH waeH (C) Teed o (D) Ut TEEw
90. frfafed § & wH-W1 R favm 9 | Hiffa e & fog 82

(A) AR (B) THI gT&R (C) Tiieed @ (D) T+ R
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91.

91.

91.

91.

91.

Which of the following is best depicted by the diagram ?

(A) Cat, Fat, Rat (B) Food, Clothes, Friends

(C) Assam, India, Asia (D) Geometry, Botany, Economics

e oz e @GR AdTeTeR ifas s

(A) GRS, S, 47 (B) ¥, 7T, g

(C) P, IS, «fe (D) eniffs, Sfewnfml, gy
awe 5afS Tea (@FAGE SIETeiE 96 @ 2

(A) T, ot 2w (B) 4, 3T, 3

(C) P, T, @<l (D) yifiife, Sfgnml, wieaifs
S e Are grefae fefer 2

(A) &N, HRERIHI, TSI (B) &SI, @HE, ARIRR

(C) 3THM, 9, TfEan (D) qAY, Il o, e
fea 7 eg Fr=fafaa & 9 o goian § 2

(A)  foeeft, @i, =@ (B) WM, HIS, I
(C) 3T, WIRd, Tferm (D) Snfafd, sfa fagm, stefeme
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1422 +33

92. Find the value of 1 +2+6\/§—+4\/§'
1 1 3
&) o5 ® 5 © 5 o 2
1+242+343
92. 1+2+6J§—+M 3 3 e 5 |
1 1 3
O ®) 5 © 5 o 2
1+242+343
92. 1+2+6J§—+M a7 e fef 52|
1 1 3
*) 5 ®) 5 © 5 o 2
1+242 +34/3
92. 1+ Trel5 42 1 7m fegq1
1 1 3
&) o5 ® 5 © 5 o 2
1+2V2+3V3 .
92. 1+ EFTNCTN] 1 HH 1 A
1 1 3
O ®) 5 © 5 o 2
93. Ason 18tof January, 2024, who is the President of Ukraine ?
(A) Joe Biden (B) Vladimir Putin (C) Valerii Zaluzhn (D) Volodymyr Zelenskyy
93. 17 SIS, 2024 AATF TG R IS @ 2
(A) T RCE (B) wIfGhE 7o Q) (SER e (D) SHTeRE (S
93. 13 SIS, 2024 ACATH SR Aol (& o@w™ 2
(A) (ol AECE (B) wibE sffe  (C) NG Gei" (D)  SCAIMBE (SCeiE
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93. 2024 HEYUEM 1 AR Wifafadrd Jeha FRRARE FRAH ?

(A) S SR (B) wMfeAR gfd  (C) iR SigsA (D) ¥'a'fefR St
93. 1 Sad, 2024 FI Yok & TLIAN A § ?

(A) S foreq (B) =fGHR gfm  (C) <ot SigsH (D) SIcAIfSfHR Sieient
94. Rearrange the following components to form a correct sentence.

i)  where no man had
ii)  here we are strolling

iii) ever set foot before

A) (1) - (i) - (i) - (iv) (B) (i) - (i) - (i) - (iv)
C) (i) - (iv) - (i) - (iid) (D) () - (iv) - (i) - (ii)

(
(
(
(iv) on the surface of the moon
(
(

95. Mark the correct word as synonym of “affluent”.
(A) Meeting (B) Discussion (C) Wealthy (D) Poverty
96. Fill in the blank.
January was the month last year.
(A) Cold (B) Colder (C) Coldest (D) Cool
97. A six-faced die is made in such a way that the sum of the dots on the opposite faces are always

97.

97.

equal. Which of the following pairs is not opposite facing pair of the die ?
(A) 1,4 (B) 2,5 <C 1,6 (D) 3,4

@ A sl & fbw KTz aewiea Siite Tics @S [ReiSts 21757 e 370 cisreet smiz omim | fsfafes
(I Q@R PR #i7iF [eide foifoe 712 2

(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4

@ LT AR GSOIE (oF] I T A0S [RoFTe JASTEAR [ (QU91we] TR o 2| T (I
(STl @2 AN [ [oSTe (siel 97 2

(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4
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97.

97.

< Al T SREE! 3T SRl Siere faf See Sraihri™ fa<IeRr Ssiere Sisesl 99M | TRE
I SEAT o SREM Sl S/ Gl ST 2

(A) 1,4 (B) 2,5 @ 1,6 (D) 3,4

T B¢ G 991 39 YR A1 9l © T foradia werehl W foigai ot 2T eien sReR &t ¥ 1 fefated o
Y -1 SIS 39 I 1 foadia sirer & 8 2

(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4

98.

Which word would substitute the marked portion - “The Zebra stripes on roads are for crossing by

people who are walking " ?

(A) Pedestrian (B) Pediatrician
(C) Pollination (D) Postulation

99.

99.

99.

99.

99.

The average of 9 observations was 9, that of the first 5 being 10 and that of the last 5 being 8. What
was the fifth observation ?

(A) 8 (B) 7 ) 9 (D) 10

I 9 Bt 29T 91T W 9, A 5 BT 97T e 10 DN 79 756 91C e 8 | AN A Fe[ W 5
oifes 2
(A) 8 (B) 7 C) 9 (D) 10

9 5 “ifrreem aIT 7 9, 212w 5 57 10 W3k 1T 5 B 8 | #I%ew =46 51 iz ¢
(A) 8 (B) 7 ) 9 (D) 10

T 9 TEEAE®RE TSt 9 ;. famifem 1 5 1 81 10 o1 3Afew °9m 5 = 81 &' o reg=men 99 ?
(A) 8 (B) 7 ) 9 (D) 10

9 TercAreRHl ol SEd 9 o, Tgel 5 ol SIEd 10 AT 31T 1™ 5 1 STied 8 o1 1 i=al STaciieh s o1 ?
(A) 8 (B) 7 ) 9 (D) 10

100.

100.

The least natural number which when divided by 2 gives remainder 1, when divided by 3 gives
remainder 2 and when divided by 4 gives remainder 3, is :

(A) 23 (B) 17 (C) 31 (D) 11

2 (3 219 SR 1 ST AR 2191, 3 ([ 219 SR S 2 2417 217 e 4 ([ 276 FREA 60T 3 917 #i41
TR [Tox FeIs ARG (2 ¢
(A) 23 (B) 17 (C) 31 (D) 11
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100. T T[T 7 T 2 BT Ol F40e] SRS 1 AN, 3 Gl Ol 061 SRS 2 AF <2 4 7! oS!
FACE SRE 3 ANF (A6 T ¢

(A) 23 (B) 17 (C) 31 (D) 11

100. SEfee iYW i Sl 2 S THea 1 TEraT o1&, 3 i el 2 Tl o9rl 3T 4 Si el 3
TGS 91, o ST ey

(A) 23 (B) 17 (C) 31 (D) 11

100. I <AqH iR Ge & 2 9§ fasifaa & W I9ha 1, 3 § fawifsa w5 | 9wd 2 3R 4 9 faafsa
T T ITHA 3 W A1 S, TSR

(A) 23 (B) 17 (C) 31 (D) 11

101. If cosb= %, then the value of sin6 is :

5 12 12 13
13 12

101. T cosh = % (S(T sind I I ¢

5 12 12 13
13

5
101. T cosb= e T, O(J sinf I W 2(F ¢

5 12 12 13
13 12

5
101. Tﬂi’cose: E' 3T&eTT sind 9 9 ¢

5 12 12 13
13 12

5
101. IfC cosb= 'EX Al sin® 1 9 :

A 15 ® © 15 ®) 1
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102.

102.

102.

102.

102.

A person borrows a sum of X 1,00,000 at a simple interest of 6% per annum for 2 years and invests
the amount at a compound interest of 6% per annum for 2 years. After returning the borrowed
amount with interest, the person earns a profit of :

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

G& 2 A2 6% e o T 1,00,000 51 2 T2 I R0 51'CE O T2 6% b o 2 I%7 A&
T2 4o Rl SRET | 419081 @RI 4 0o 2IfRTaliy T 21ES NES ST 341 9 e A (202 2

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

O3 & 2 ILEF T I 6% T A7 H T 1,00,000 TIF 417 (7 GIR (72 Bl 2 IR T A 6%
2@ vagfa o R 30 | 97 72 A& Tl (e (e #17 Ifefoa wifers oo 2= ¢

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

T gHfEE SRR 6% BN TRl gg EHF <ER 2 1 9@ 2 1,00,000 3 <RRIE o SERIR 6% B8R
RS Ga1'a arER 2 1 o T 6| SRR e T8 Gesit arie e o TR s T
e ?

(A) Z 360 (B) 120 (C) T 480 (D) ¥ 240

T Af 2 WA & folw 6% gfaad & HER0 = W 3 1,00,000 St TR SR ol § 31k 39 T 1 2 9
% foTT 6% fqad & =shgfe = W a9 FLda ¥ 1 SUR ot TE T =S |fd dlieH T AT i oty g
g

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

103.

103.

103.

Which type of Democracy is presently being practised in India ?
(A) Direct Democracy (B) Representative Democracy

(C) Social Democracy (D) Totalitarian Democracy

TEA ©OS (FHRL 0T 2bfere 2

(A) =IoFF 9T (B) efffagsers aoog
(C) AR sifog (D) SRl 9Aereog

TN SCS (T LT 9o 2bfere 2

(A) =TT 5l (B) dfoHfagsers sl
(C) IS alrog (D) SRR 9erog
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103.

103.

STETeTE YRATe 7 J@HH gt 341 |/ ?

(A) st gt (B) o< oy

(C) HHSIR gty (D) E RIS g ar-«
IRA H aduH § fohd YR &1 T yafed § 2

(A) THE TArhas (B) ufaffy ik

(S SERIETE (D) SATEReE] erehe

104.

104.

104.

104.

104.

What would replace # in the sets ?

{5, 120, 3}, {9, 630, 5}, {9, 810, #}

(A) 8 B) 7 ©) 6 (D) 4
{5, 120, 3}, {9, 630, 5}, {9, 810, #}

O # bz [~z afeiom S 2
(A) 8 (B) 7 € 6 (D) 4

e WEfeeferre # Bziva Bt F afsgifoe 7@ ¢
{5, 120, 3}, {9, 630, 5}, {9, 810, #}
(A) 8 B) 7 € 6 (D) 4

{5, 120, 3}, {9, 630, 5}, {9, 810, #} YIRS # Wi TS WG S ?
(A) 8 (B) 7 <€) o (D) 4

= {5, 120, 3}, {9, 630, 5}, {9, 810, #} H # = T 1 AT ?
(A) 8 (B) 7 © 6 (D) 4

105.

105.

105.

In which country was Christopher Columbus born ?

(A) Spain (B) England (C) Portugal (D) TItaly

@ (e TP TR SN (ST 2
(A) =iz (B) &% (C) AN (D) Z5ife

fFEH P FATHA (I (0 ST FCE 2
(A) IS (B) EzEe Q)  corgane (D) 2oifer
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105. Tsh&d "R Sherw=d SIFM el Sed -

(A) ¥ (B) < (©) gam (D) et
105. ToRIH Ficiod 1 5= g <91 § gt o1 ?

(A) = (B) IS (C) T (D) e
106. Which country controls the Suez Canal ?

(A) Turkey (B) Israel (C) Egypt (D) France
106. (LT @ HES A& FTEel I 2

(A) T (B) T&sizs ©) Tew (D) T
106. N (7 S AT WaEe I 2

(A) TT® (B) &I (C) = (D) =™
106. gUS <A 96l TS HHEAR ?

(A) T (B) =SS (€) = (D) w4
106. TS & I -1 7 AT e 72

(A) T (B) SRS © fr= (D) Wi
107. Which of the following is a part of Mahabharata ?

(A) Upanishads (B) Puranas (C) Vedas (D) Gita
107. FxfERe @G TeRes @5 o 2

(A)  Toifram (B) =i © @™ (D) el
107. A (I TSRO0 S<A 2

(A)  Toifram (B) <l © @™ (D) el
107. TRE o HEIMRAT Gl ?

(A) 3ufug (B) TH (C) d- (D) fimm
107. fr=fafed § 9 SH-91 HevRd &1 fEwmn €2

(A) 3ufug (B) U (C) d- (D) e
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108. Identify the water reflection of the given figure.

(A)

)
T

1

(B)

_ 7
—

108. o< fous T efowet Hacs! e 5 |

N

(A)

|

(B)

7
—

108. 2ve Brad TR Ao ANie I |

)
T

1

108. BFM WEARA <eme ffrrEt famm

_ 7

(A)
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108.

feu U o= & S wfafss = g8 |

© 1

[
|

_ 1 ol
—

o

109.

109.

109.

109.

Which of the following is correct ?

(A) Volcano cannot exist underwater.

B) Sea does not have any water current.

Almost 70% of earth surface is filled with water.

Land mass is almost half of earth’s surface.

T R (@G e 2
(A) SRR ANR weTe IS AR @RIE |

(B) IS (FICA 490 AT Gife TN |

Q) ISR THfFSIR A’ 70% ©lal 2AIE SRE S|
(D) 7JfRSR THARCI9 oI W@ s e TS |

e T @b we 2

(A) SCER I SRR ARCS #I1C 1|

(B) TR (FIG SEAHS 13|

Q) JfAR 3 &R 70% ot Ses Aof |

(D) ~feT7 sjrIa @li7 =S ZeTeia |
eI se 1 o ?

A) T HrEreT < foed g

B) <ieiEl 9iel SRR 4|

C) T U™ 70% SRFNSAHI < S e |
D) ®-GE<IST -9 9 e |

~—

(
(
(
(
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109. frfafad § ¥ SH-T @& 72
(A) SIS I % S AN TRl 18 Hehll |
(B) YR § g JTAURT el |
(C) Yt i TAE T AT 70% T THT F o g T |
(D) YT Yot i TS T TN 3TN T |

110. Grandmother was cooking at a picnic, attended by her son and daughter-in-law, with their four
sons and their wives and one son and two daughters to each of the sons. How many ladies were
there at the picnic ?
(A) 8 (B) 12 (C) 14 (D) 10

110. @9RIFT SZOE FCorers qf% ke | FCSIEETS bifsieT Wit WBOHRIFR 7/a i< 797y, e 7e AgiE
CS (SSTHRR BIfReH 2@ o< 5ifs@q eferE@ @omia @ iRk Foid TRl | I SIEHorS JI0o
EIPGIS R SIREIC AR P
(A) 8 (B) 12 (C) 14 (D) 10

110. 3 ITCSICS ST A TR0 | O 9T 3R 2G4 SIHE BIF (=0T @ Ol G 0w ToAfFs foree «@r
ATOF (R G0 I (FF GR 90 I (IR 1287 | IS0 Foe N2 R 2
(A) 8 (B) 12 (C) 14 (D) 10

110. TS G STHI AEER i@ e faeif frame o) fogmsisi arig fo@R 9 s fRemer s/
o fafedR ST |Ihme FRaTeTRR fReTe & ST fReTsi |ree el | o e siiam S 6
oY fEea®R 31 ?
(A) 8 (B) 12 (C) 14 (D) 10

110. << Uk fUehrfeh W @1 o1 & off, TS 37kt 9321 31K =g, 39 =R 9 IR St gfeqal iR ek Tk
I HT T S IR T Afeat wihe off | fyewfen # fhat Afeemd of ?
(A) 8 (B) 12 (C) 14 (D) 10

111. Which of the following is incorrect in regards of the ICC Men’s ODI Cricket World Cup ?

(A) India has won the Cup twice.
(B) Australia has won the maximum number of times.
(C) England won the Cup in the first tournament.

(

)
D) Bangladesh has never won the Cup.
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111. Wi o7 orivenz Ruwiel fFs T=idm fxfeie @R S wug 2

A) RO G2 I G SRES FIRCZ |

B) SIEmIE AR A TS SRR

C) e BT Sxerie 93 sl TrEeire S |
D) AW €2 ol (AN TS T4 i3 |

~—"

(
(
(
(

111. 7R SiePih ofSenz fFs Rusist 7ifds Toa @i o aeg 2
(A) SR @R 92 F7l fErez|

(B) SICERT A A7 fererz|

(C) TeTe AR Aferifaer farerz|

(D) QKA FINE SRS F( |

B

~—

111. BETRRM ICC ODI frdhef I8 1T TrH=< TerEmE 8@ 99 fagfan ar et ?

A) IRAT I T @M & |
B) TEAfeEn a1 SAfgs Fifae Te e |
C) frfafgs gAfd=ma g <R |

D) ®|i(’1l§?|l Hisld 6l qielHl ml

(
(
(
(

111. SR, 29 U feada iaia fomche fova &9 & dey # frafafaa § 9 wF-91 e & 2
A) ¥Rd A IR FY SR

ST 3 Forld SATET 9IRS gifdad & g

C) UBd ZAHE H i€ 7 Y Sl o |

D) diree® 3 Ft FY & S 7

B

~—

(
(
(
(

112. In Assamese literature, who is known as the “Dhwani Kabi” ?
(A) Binanda Chandra Barua (B) Ananda Chandra Agarwalla
(C) Mahendranath Deka Phukan (D) Mafijuddin Ahmed Hazarika

112. SPRR AfRSTS (@ “RN R 0o Taee 2
(A) a7 vw 394 (B) Il b sl
(C) SR (THIFHT (D) wIRrgfwe NRem FSRH
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112.

112.

112.

(A) Rew v =20 (B) Il b oISl
(C) 2L (T T (D) SfrerGiwme SI2em IS

STt YFersare, 9 et wfa’’ g fafersma 2
(A) o< =g o%d (B) A< == 3ANATe
(C) TSN H Fohd (D) wfFsEiE TeHg & 'R

st wifecr § ' eafq swfa’ & A § foRd S S R 2
(A) forig =g swet (B) Mg < HAHETT
(C) WS o1 Tk (D) HAFEN TEHS TTIeh

113.

113.

113.

113.

113.

The sum of the roots of the quadratic equation 2x>—5x+3=0 is :

3 5
(A) 2 ® © 3 (D) 5
RIS AP 222 —5x +3 =0 F AN (FZBIF I (AT (20T 8

3 5
(A) 2 ® © 3 (D) 5

faifs ATl 202 — 5x +3 =0 @3 (=R AN 2 ¢

3 5
(A) 2 B) 5 © 5 D) 5
2x2 —5x +3 =0 S FHFAAA ASTRRM FHSITEET

@) 2 ® © = D)

faema TieRTor 202 —5x +3=0 % Hall & AN T :

N o
—~
-
N
&)

(A) 2 (B) % Q)
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114. Identify the pair which does not follow the common pattern.

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE
114. TTIZS ! BIGP| SEPRel 7Fat (ARG i 75 |

(A) 6:OXYGEN (B) 5: ARGON (©) 7:CADMIUM (D) 8:BROMINE
114. @ (STID AR T () SpRe Fa T Ot bizrs w9 |

(A) 6:OXYGEN (B) 5: ARGON (©) 7:CADMIUM (D) 8:BROMINE
114. ST SR TEARRATGE T fRmes wifen foe e’ ?

(A) 6:OXYGEN (B) 5: ARGON (©) 7:CADMIUM (D) 8:BROMINE
114. 39 SIS HI TaH L S G Yo 61 Ire T H ¥ |

(A) 6:OXYGEN (B) 5: ARGON (©) 7:CADMIUM (D) 8:BROMINE
115. Name the Mughal emperor whose army was defeated at the Battle of Saraighat.

(A) Awurangzeb (B) Shah Jahan (C) Babur (D) Humayun
115. * <2903 T@© 2[IGR I9¢ I (N9/e1 AFOSGH (e 2

(A) SRR (B) bR (C) A=W (D) =
115. =293 I @ (N9l 796 “1ere fars ©oF 7% 65 |

(A) TSR (B) =engle (C) == (D) =
115. TUEENEH TEEEE TSR goe F9el JREMH ?

(A)  FRSE (B) Ve eM (C) @R (D) TA
115. 39 Tl GUTE 1 1 FaeC fqeh! I91 IEHR & g5 § e’ Tl off 2

(A) SRSE (B) VSTl (C) =R (D) T
116. Which of the following colours is NOT seen on the Olympic flag ?

(A) Green (B) Yellow (C) Orange (D) Black
116. ST 2[OIFITS RS (BTG =9 @71l S 2

(A) s (B) ==& Q) qufemal (D) &
116. O (i AT T OB (7l T A 2

(A) & (B) = (©) <l (D)  FICe
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116.

116.

~

Afcfiqer frtfthermare s« Tren =T ?

(A) e e (B) TIHITE (GEESIRIE (D) IrE™ e

freafafaa 3 9 -1 T e s | T8l foEdl 8 2
(A) ' (B) dfem (C) Rt (D) <hTell

117.

117.

117.

117.

117.

72 toffees were distributed to some boys in a group. Each boy in the group got twice as many of
the toffees as the number of boys. The number of boys in the group is :

(A) 6 B) 7 ©) 8 (D) 9

G5! HoT® ! (ST &7 9 e 72 ALAF GiF o6 91 2o | o9 2O o799 Slore #i]1 5ipg A4
VETS 2] P TR AR G I | WECOTS 2] 7S [ TR C20Z 8

(A) 6 B) 7 ©) 8 (D) 9

72 16 5fzF «aveT (2reTevd See Teael 341 = | weed 2ot (2re, e Al (R AT Basel B AN | e
CRCETOAR A T
(A) 6 (B) 7 € 8 D) 9

~

Y T R BT 72 Afth A1 STl | SISkl 712037 SISTEre AR 79 iR SARH 1 Y% i
qHel | o BIIETe 9ol 719 R SHA ?

(A) 6 B) 7 © 8 D) 9

T 9 | $ AgHl i 72 fRar faafid i 7| we H YT Sk I AShl Hi & | I ARt
et | e ® el & e R
(A) 6 (B) 7 < 8 (D) 9

118.

118.

118.

Identify the incorrect term in the series.
{5, 8, 13, 20, 31, 40, 53}
(A) 13 (B) 31 <G 20 (D) 40

{5, 8, 13, 20, 31, 40, 53} %R GG M5! Bl T |

(A) 13 (B) 31 Q) 20 (D) 40
o4me TN be et TR iz e |

{5, 8, 13, 20, 31, 40, 53)

(A) 13 (B) 31 (©) 20 (D) 40
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118. IRAE {5, 8, 13, 20, 31, 40, 53} UM TR~ fogmeaE TPrg’ |

(A) 13 (B) 31 Q) 20 (D) 40
118. §@eT {5, 8, 13, 20, 31, 40, 53} H TG IS T&aH |

(A) 13 (B) 31 ) 20 (D) 40
119. Which country did the martial art Taekwondo originate in ?

(A) Thailand (B) China (C) Korea (D) Vietnam
119. DIRCSRICS! 71N 73 TG TeoAfE (i (o (2fws 2

(A)  2ECETe (B) M Q) izl (D) o
119. PRI SRR SATE (Fl (wes 2

(A) 2lZEe (B) ©M Q) il (D) foea™
119. TEEAIR STRY AL o7 o6l FGUE SIFRIGIHM ?

(A)  oEeS (B) A (C) =f&n (D) Twaa™
119. TEFEIS] AHE HHGhA i 3cdfd fohd <91 H g8 2

(A) oEis (B) =M (C) iftan (D) forrdm
120. Siachen in Ladakh is an example of :

(A) Cold desert (B) Glacier (C) Plateau (D) Snow mountain
120. =GI¥S A (FINER GF Srizsel ?

(A) Treesmgi  (B) fER (©) T (D) LIRS 2M=T
120. =M Prfo Triegd 21 2

(A) SlereR (B) R (©) T (D) I =K
120. RREH & 7Y 1 fafafeer

(A) THAEH  (B) W <HI (©) S| (D) SR BISIl
120. <@ H feeq fanfem soe 3emam @

(A) e A (B) femre (C) WR (D) ¥®icl T
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121. In which city is Dalal Street located ?

(A) Kolkata (B) Chennai (C) Hyderabad (D) Mumbai
121. WiETel G5 (PN TN ORES 2

(A) Fererel (B) I (C) ZRmSEm (D) Y=
121. W& B0 (N *123 SRZ® 2

(A) FoO (B) AR ©) TaRm (D) THR
121. < f&ger sf@r ?

(A) e (B) e (C) ErFEER (D) T
121. <A Wi e vt # feora €2

(A) IR (B) == (C) TR (D) He
122. Who amongst the following has not won the Jnanpith Award ?

122.

122.

122.

122.

(A) Birendranath Dutta (B) Nilamani Phukan
(C) Hiren Bhattacharyya (D) Mamoni Roisom Goswami

TR @ ST @S 61 &1 11 AR 2

(A) T 7@ (B) TieTfel <per

(C) 2T SHHRG (D) SIS SEBN (oI
f0n TEikem@ T & @AY TR 5 FE 2

(A) R e (B) “Tiomsifel F<ee

(C) 2@ oGm (D) SIS F9= (o
TS B SR T IS Sl WA 2

(A) forgTagd (B) 1| P
(C) Ter sier (D) W' T T
frfafed & § fres e TEwR & St 2

(A) gy <3 (B) e ek

(C) f&d wermrd (D) WTHHT AE Tt
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123.

123.

123.

123.

123.

Which of the following travellers had visited Kamrupa Kingdom ?
(A) FaHien (B) Hiuen Tsang (C) Al Biruni (D) Marco Polo

fAafaie @ A=_I5! Qe T ey g s 2

(A) wifze (B) f2¥wH Bk (C) SETREAT (D) W #IcaA

0w Tafie @i Aifikares Fwmel ae oAt FEfeeEe 2
(A) T-fREw (B) fGm-e Q) - (D) SR CoMa

MM SHE 96l I SEeEEn HHey TEsnste AEfife Haiae ?
(A) e (B) feswa @i (C) 3T o% (D) HTehi drell

frefafea & @ fa anh 3 Sy 9w &1 SR1 R o ?
(A)  ®>IH (B) & M (C) 3T J&Al (D) e drell

124.

Identify the proper noun in the following list.

(A) High mountain (B) Black car (C) Deep sea (D) Pacific Ocean

125.

125.

125.

125.

125.

The product of two binary numbers 101 and 10 expressed in binary numbers is :

(A) 1001 (B) 1010 (C) 1100 (D) 1110

wG! @o 2elleTia ALl 101 == 10 T 7T & 2elleTT® o FR0eT 27 ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110

w3fs Gl k2 101 W3R 10 @91 woizret B AR AG ST 2wl FCe siea 0 ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110

T SAfSHHER S 101 3R 10 f5 FFSTemaE! SHAfSHHa AfsHEe SR ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110

T fgememd demsii 101 3R 10 =1 oHE fgeneart densti § U o forar s € -
(A) 1001 (B) 1010 (C) 1100 (D) 1110
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126. Read the following passage and answer the question that follows :
Light pollution is a growing problem worldwide. Like other forms of pollution, light pollution
degrades the quality of the environment. Where it was once possible to look up at the night sky
and see thousands of twinkling stars in the inky blackness, one now sees little more than the
yellow glare of urban sky-glow. When we lose the ability to connect visually with the vastness of
the universe by looking up at the night sky, we lose our connection with something profoundly

important to the human spirit, our sense of wonder.
The passage implies that the most serious damage done by light pollution is to our :

(A) art history (B) sense of paleness
(C) cultural advancement (D) questing spirit
127. This application was written a pen.
(A) by (B) with (C) off (D) nib
128. Choose the correct pair to fill up the blanks :
He put some on the hinge, so that it should not .
(A) oil, squeak (B) water, spill (C) colour, stand (D) paper, seat
129. Everyone admired his courage.
(A) at (B) of (C) for (D) no word required

130. Find the analogy of the relation between the words from those given below on the basis of the
indicative uppercase word-pair preceding the choices.
SHELF : BOOKCASE

(A) arm:leg (B) stage : curtain (C) bench:chair (D) key: piano

Read the passage and answer the questions (131-133) that follow :

Reality for human beings is not action or feeling but meaning. Humans are symbol using creatures; a
symbol is anything that carries a particular meaning recognised by the people who share culture. A
whistle, a wall of graffiti, a flashing red light, a fist raised in the air—all serve as symbols. We see the
human capacity to create and manipulate symbols in the various ways a simple wink of the eye can
convey interest, understanding, or insult. We are so dependent on our culture’s symbols that we take
them for granted. Often, however, we gain a heightened sense of the importance of a symbol when
someone uses it in an unconventional way. Entering an unfamiliar culture also reminds us of the power
of symbols; culture shock is nothing more than the inability to “read” meaning in one’s surroundings.
We feel lost, unsure of how to act, and sometimes frightened —a consequence of slipping outside the
symbolic web of culture. Culture shock is both what travellers experience and what they inflict on

others by acting in ways that may offend them.

131. In the context of the passage, which of the following does not serve as a symbol ?
(A) whistle (B) graffiti
(C) flashing red light (D) culture shock
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132. How is reality defined as in the passage ?
(A) meaning (B) action

(C) feeling (D) web

133. In the context of the topic of the passage, when do we feel lost, or frightened ?

(A) When we lose in a competition

(B) When we slip outside the symbolic web of culture
(C) When we cannot locate our action
(D) None of the above

134. Choose the sentence that correctly communicates the meaning in the following sentence.

(A) Barua was usually able to catch the six thirty-five train from Guwahati

(B) Barua was usually able to catch a six thirty-five train from Guwahati
(C) Barua was usually able to catch on six thirty-five train from Guwahati
(D) Barua was usually able to latch the six thirty-five train from Guwahati

135. What would be the synonym for the word educe ?
(A) demand (B) elicit (C) ideal (D) unlawful

136. Put the verb in brackets into the present perfect tense, and fill the space by repeating the auxiliary.
Where you (be)? —
I (be) to the dentist.
(A) have you had, I have been (B) have you gone, I have been

(C) have you been, I've been (D) went, I went

Read the following passage and answer the questions (137-140) that follow :

The Okapi, a forest mammal of Central Africa, has presented zoologists with a number of difficult
questions since they first learned of its existence in 1900. The first was how to classify it. Because it was
horselike in dimension, and bore patches of striped hide similar to a zebra’s (a relative of the horse),
zoologists first classified it as a member of the horse family. But further studies showed that, despite
Okapis’ coloration and short necks, their closest relatives were giraffes. The Okapi’s rightful place within
the giraffe family is confirmed by its skin-covered horns (in males), two-lobed canine teeth, and long

prehensile tongue.
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The vital question concerned the size of the Okapi population. Because Okapis were infrequently
captured by hunters, some zoologists believed that they were rare; however, others theorized that their
habits simply kept them out of sight. It was not until 1985, when zoologists started tracking Okapis by
affixing collars equipped with radio transmitters to briefly captured specimens, that reliable information
about Okapi numbers and habits began to be collected. It turns out that while Okapis are not as rare as
some zoologists suspected, their population is concentrated in an extremely limited chain of forestland

in north-eastern Central Africa, surrounded by savanna.

One reason for their seeming scarcity is that their coloration allows Okapis to camouflage themselves
even at close range. Another is that Okapis do not travel in groups or with other large forest mammals,
and neither frequent open riverbanks nor forage at the borders of clearings, choosing instead to keep to
the forest interior. This is because Okapis, unlike any other animal in the Central African forest, subsist
entirely on leaves: more than one hundred species of plants have been identified as part of their diet, and
about twenty of these are preferred. Okapis never eat one plant to the exclusion of others; even where
preferred foliage is abundant, Okapis will leave much of it uneaten, choosing to move on and sample
other leaves. Because of this, and because of the distribution of their food, Okapis engage in individual

rather than congregated foraging.

But other questions about Okapi behaviour arise. Why, for example, do they prefer to remain
within forested areas when many of their favourite plants are found in the open border between forest
and savanna ? One possibility is that this is a defence against predators; another is that the Okapi was
pushed into the forest by competition with other large, hoofed animals, such as the bushbuck and bongo,
that specialize on the forest edges and graze them more efficiently. Another question is why Okapis are
absent from other nearby forest regions that would seem hospitable to them. Zoologists theorize that
Okapis are relics of an era when forestland was scarce and that they continue to respect those borders

even though available forestland has long since expanded.

137. The word hide in the first paragraph means :
(A) smell (B) evade (C) skin (D) land

138. Zoologists assume that Okapis are relics and they respect the forestland borders. It means :
(A) Okapis are humanoid creatures
(B) They are culturally inclusive
(C
(

) They communicate with other bordering creatures
D) None of the above
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139. Okapis stay within the forest interior. The passage relates this to the of the Okapi.
(A) scarcity (B) mind (C) culture (D) size

140. The function of the third paragraph is to :
(A) pose a question about Okapi behaviour

(B) rebut a theory about Okapi behaviour
(C) counter the assertion that Okapis are rare
(D) explain why Okapis appeared to be rare

Change the following (141 & 142) into passive voice.
141. Previous climbers had cut steps in the ice.
(A) Steps had been cut in the ice (B) Steps were cut in the ice
(C) Climbers cut steps in the ice (D) Steps cut in the ice by climbers

142. No one can do anything unless someone gives us more information.

(A) Nothing can be done without giving information.

(B) Nothing can be done unless we are given more information.
(C) Nothing can be done unless someone gives more information.
(D) Nothing can be done without information.

143. Which of these words is closest in meaning to the word kin ?

(A) exult (B) twist (C) friend (D) relative

144. Which word from the following is similar to beckon ?
(A) light (B) beg (C) motion (D) hear

Read the following sentences (145 & 146) and try to choose the best definition for the italicized word by
searching for context clues in the sentence.

145. The new shipping and receiving building is an expansive facility, large enough to meet our growing
needs.

(A) obsolete (B) meagre (C) spacious (D) costly

146. Mr. Powers was so gullible that he believed even the most outlandish excuses of his insincere
employees.

(A) intelligent (B) naive (C) dishonest (D) critical
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Read the following passage and answer the questions (147-150) that follow :

Today, bicycles are elegantly simple machines that are common around the world. Many people ride
bicycles for recreation, whereas others use them as a means of transportation. The first bicycle, called a
draisienne, was invented in Germany in 1818 by Baron Karl de Drais de Sauerbrun. Because it was made
of wood, the draisienne wasn’t very durable nor did it have pedals. Riders moved it by pushing their feet

against the ground.

In 1839, Kirkpatrick Macmillan, a Scottish blacksmith, invented a much better bicycle. Macmillan’s
machine had tyres with iron rims to keep them from getting worn down. He also used foot-operated
cranks, similar to pedals, so his bicycle could be ridden at a quick pace. It didn’t look much like the
modern bicycle, though, because its back wheel was substantially larger than its front wheel. Although

Macmillan’s bicycles could be ridden easily, they were never produced in large numbers.

In 1861, Frenchman Pierre Michaux and his brother Ernest invented a bicycle with an improved
crank mechanism. They called their bicycle a vélocipéde, but most people called it a “bone shaker”
because of the jarring effect of the wood and iron frame. Despite the unflattering nickname, the vélocipéde
was a hit. After a few years, the Michaux family was making hundreds of the machines annually,
mostly for fun-seeking young people.

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design. He made the front wheel many times larger than the back wheel, put a gear on the
pedals to make the bicycle more efficient, and lightened the wheels by using wire spokes. Although this
bicycle was much lighter and less tiring to ride, it was still clumsy, extremely top-heavy, and ridden
mostly for entertainment.

It wasn’t until 1874 that the first truly modern bicycle appeared on the scene. Invented by another
Englishman, H.]. Lawson, the safety bicycle would look familiar to today’s cyclists. The safety bicycle
had equal-sized wheels, which made it much less prone to toppling over. Lawson also attached a chain
to the pedals to drive the rear wheel. By 1893, the safety bicycle had been further improved with air-
filled rubber tyres, a diamond-shaped frame, and easy braking. With the improvements provided by
Lawson, bicycles became extremely popular and useful for transportation. Today, they are built, used,

and enjoyed all over the world.

147. Which of the following statements from the passage represents the writer’s opinion ?
(A) The safety bicycle would look familiar to today’s cyclists.

(B) Two hundred years ago, bicycles didn’t even exist.

(C

(D

) The Michaux brothers called their bicycle a vélocipede.
)

Macmillan’s machine had tyres with iron rims.
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148. Read the following sentence from the fourth paragraph :

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design.

As it is used in the sentence, the underlined word revolutionized means :
(A) cancelled (B) changed drastically

(C) became outdated (D) exercised control over

149. The first person to use a gear system on bicycles was :
(A) H.J. Lawson (B) Kirkpatrick Macmillan
(C) Pierre Michaux (D) James Starley

150. Macmillan added iron rims to the tyres of his bicycle to :

(A) add weight to the bicycle (B) make the tyres last longer
(C) make the ride less bumpy (D) make the ride less tiring
-00o0-
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